Z Local Position All Modules

[wio] [e207Z

_10:|||||||||||||||||||||||

80 100 120

60

40

20

0

tray



Module 0 Tray1l : z Local Fit

100k
sof
s0f
a0f

Z0=

20

0,

O e 2024 6 810

+ 0.0106:

zLocal [cm]

Module 0 Tray5 : z Local Fit

100fF
oo} L,
60
a0fk

20 =

20

¢

686 420 246 810

23 + 0.0108¢

zLocal [cm]

Module 0 Tray9 : z Local Fit

140F

120k

100

80

60

a0f

20

0 : 3 ]
-10-8 6 -4-2 0 2 4 6 810

03 + 0.0106:

zLocal [cm]

Module 0 Tray13 : z Local Fit

120k

100

80

60

a0k 20 + 0.0111(¢

20

06 4 20 24 6810

zLocal [cm]

Module 0 Tray17 : z Local Fit

60
408 ZO =4

20

0

1086 420 2461810

102

zLocal [cm]

Module 0 Tray2 : z Local Fit

zLocal [cm]

Module 0 Tray6 : z Local Fit

100

80

60

40

20

910-8-6-4-202 4 6 81

zLocal [cm]

Module 0 Tray10 : z Local Fit

Z0 =0.029041 + 0.01j15C

0

100

80

60

40k

20

zLocal [cm]

Module 0 Tray14 : z Local Fit

0 ]
-10-8 6-4-20 2 4 6 8 10

Z0=0.017579 + 0.0119:

zLocal [cm]

Module 0 Tray18 : z Local Fit

e T

11e

60

40

20

910-8-6-4-202 4 6 81

zLocal [cm]

107

0

Module 0 Tray3 : z Local Fit

14
120fF
100f
8of
60fF
20k Z0 =

20

88 + 0.0995(

R T

zLocal [cm]

Module 0 Tray7 : z Local Fit

94¢
0
zLocal [cm]
Module 0 Trayl1 : z Local Fit
12
100
Ty
80 {
60
“F z0= 45 + 0.0108:
20p

0 ; ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray15 : z Local Fit

100
80
60

a0
Z20=10 90 + 0.0125:

20

UG8 20 2 4 6 810

zLocal [cm]

Module 0 Tray19 : z Local Fit

60
40F Z0 =

20

] s 1
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray4 : z Local Fit

120k

100k W1 T

60

zLocal [cm]

Module 0 Tray8 : z Local Fit
S0

20f ‘
| |
2o} b

201

20=P (7 +0.0[L65

zLocal [cm]

Module 0 Tray12 : z Local Fit

100

60

40F 70 = 0.0098Y2 + 0.01L09

20

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 0 Tray16 : z Local Fit

100
80
60
40

D93

20

6 20 2 46 810

zLocal [cm]

Module 0 Tray20 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 0 Tray21 : z Local Fit

12

100

80

60

zLocal [cm]

Module 0 Tray25 : z Local Fit
100fF

8of LMILAL)
60f
a0k

Z0= 50 + 0.0126¢

20

I 4 1
-010-8-6-4-20 2 4 6 8 1

zLocal [cm]

Module 0 Tray29 : z Local Fit

120
100
80
60

wof z0=

201

25 + 0.0305°

o = L ]
108 6420 2 4 6 810

zLocal [cm]

Module 0 Tray33 : z Local Fit

120
100
80
60
40 Z0 =

20

109

064 20 24 6810

zLocal [cm]

Module 0 Tray37 : z Local Fit

120

60

40F 70 =(.025682 + 0.0109"

20

66 s 20 24 6 810

zLocal [cm]

Module 0 Tray22 : z Local Fit

1=

0.8

0.6

0.4

0.2

YT A2 02 46 810

zLocal [cm]

Module 0 Tray26 : z Local Fit

100
80
60
40pk
Z0 = + 0.0314¢
20
zLocal [cm]

Module 0 Tray30 : z Local Fit

90f
80F
70 .\" |
60F

50f
40F
“F z0= 59 +0.0122°
20f
10

0 Ba/ S )
-10-8 6-4 -2 02 4 6 810

zLocal [cm]

Module 0 Tray34 : z Local Fit

120

100

80

60

40

20

O e 202 4 6 810

zLocal [cm]

Module 0 Tray38 : z Local Fit

60

40k Z0 =

20

.04209

90 E G 20 24 6810

zLocal [cm]

04:

6 + 0.0095°

Module 0 Tray23 : z Local Fit
50

a0
30f
20k

93 + 0.0199¢

10

R R T

zLocal [cm]

Module 0 Tray27 : z Local Fit

140
120k
100f
8of
60f

98!

zLocal [cm]

Module 0 Tray31 : z Local Fit

120
100
80
60

a0

Z20=0 2 +0.0111¢

20

0 : ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray35 : z Local Fit

1=

0.8

0.6p

0.4p

0.2

E}ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray39 : z Local Fit

120k

60

40p 70 =0.042142 + 0.0093¢

20

O8G0 246 810

zLocal [cm]

Module 0 Tray24 : z Local Fit

120k
100
80
60

40F 70 =0.011068 + 0.0312(

20

O e e T

zLocal [cm]

Module 0 Tray28 : z Local Fit

120k
100
80
60
40 05(

20

O R

zLocal [cm]

Module 0 Tray32 : z Local Fit

120k
100
80
60

40F 20 = 54 + 0.0099¢

0 L )
108 64202 46 8 10

zLocal [cm]

Module 0 Tray36 : z Local Fit

100

80

a0f
Z0 = 171

20

e 4 20 2 46 810

zLocal [cm]

Module 0 Tray40 : z Local Fit

100
80
60
40

16:

201

U664 20 2.4 6 810

zLocal [cm]



Module 0 Tray41 : z Local Fit

12

100

80

60

a0f

.051881 + 0.01121
20

O e S RTH

zLocal [cm]

Module 0 Tray45 : z Local Fit

100f
8of
60f
a0f

Z0=10Q.027469 + 0.0115(

201

O e e R T

zLocal [cm]

Module 0 Tray49 : z Local Fit

120

100p ” M

60

a0k 70 = 06 + 0.0103:

20

0 ' ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray53 : z Local Fit

04:

zLocal [cm]

Module 0 Tray57 : z Local Fit

60f
40fF Z0 =

201

43 + 0.0107:

1086 4202460810

zLocal [cm]

Module 0 Tray42 : z Local Fit

120
100
80

60

40F 70 =10.048359 + 0.01

zLocal [cm]

Module 0 Tray46 : z Local Fit

100
80
60

a0k

Z0 = 20 +0.01

20

g R R B SR T

zLocal [cm]

Module 0 Tray50 : z Local Fit
100

80k l\ \l
60
40

Z0 = + 0.0]
20f

0 !
10 -8 -6 -4

zLocal [cm]

Module 0 Tray54 : z Local Fit

zLocal [cm]

Module 0 Tray58 : z Local Fit

120

40F 70 =10.013909 * 0.01

20

0

zLocal [cm]

202 4 6 8 10

Ho8 64202462810

05¢

14:

12¢

00:

07t

Module 0 Tray43 : z Local Fit

120f
100f LUl
sof
3
20F Z0 =

20

g8 + 0.0101:

] i ]
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray47 : z Local Fit

120

80
60

40F Z0 =0.000794 + 0.0104:

zLocal [cm]

Module 0 Tray51 : z Local Fit

12
100p
sof
60f
a0

Z0=10.021841 + 0.0103Z
20f

0 M
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray55 : z Local Fit

100

80

20
Z0 = 24¢

20

UG8 s 20 24 6 810

zLocal [cm]

Module 0 Tray59 : z Local Fit

60
40 Z0 =

20

48 + 0.0107:

UG8 G T 0 2 4 6 810

zLocal [cm]

Module 0 Tray44 : z Local Fit

140p
120
il o
100k i
80p
60
awf 70 = 39 + 0.0096¢
20

zLocal [cm]

Module 0 Tray48 : z Local Fit

120k

80

60

40F 70 = 51 + 0.0106=

zLocal [cm]

Module 0 Tray52 : z Local Fit

140F
120f
100f
sof
60f
a0f + 0.0Q95:

201

0 - )
-10-8 -6 -4 20 2 46 810

zLocal [cm]

Module 0 Tray56 : z Local Fit

100

80

60

20

64 20 2 46 810

zLocal [cm]

Module 0 Tray60 : z Local Fit

100k
sof
sof
a0p

31

201

U664 20 2.4 6 810

zLocal [cm]



Module 0 Tray61 : z Local Fit

100

80

60

a0f

20

g e T

zLocal [cm]

Module 0 Tray65 : z Local Fit

100
80

60

“F z0=q.019884 + 0.01

zLocal [cm]

Module 0 Tray69 : z Local Fit

100k W
sof
60f

b z0= 5

20

0 v
-10-8 -6 -4 -2 0 2 4

zLocal [cm]

Module 0 Tray73 : z Local Fit

| ._.__J___.L_h._

-010-8-6-4-20 2 4 6 810

5 8 10

20t

17(

042

00¢

zLocal [cm]

Module 0 Tray77 : z Local Fit

A6 420 246 810

a0F Z0 =

20

0 |

108

08 6 420246081

zLocal [cm]

0

Module 0 Tray62 : z Local Fit

140F
120
100f r'r

80

60

97:

zLocal [cm]

Module 0 Tray66 : z Local Fit

100

80

60

a0f

20

Q

zLocal [cm]

Module 0 Tray70 : z Local Fit

A0B8 64202 4 6 8 i

14¢

80

60

a0k

20

k

zLocal [cm]

Module 0 Tray74 : z Local Fit

0 2 s ]
-10-8 6-4-20 2 4 6 8 10

+0.0118°

120

100

80

60

40

20

9086 202 6 8 L

zLocal [cm]

Module 0 Tray78 : z Local Fit

09€

0

14

40k Z0 =

20

d
910-8-6-4-202 4 6 81

zLocal [cm]

D99

Module 0 Tray63 : z Local Fit

120

80

60

zLocal [cm]

Module 0 Tray67 : z Local Fit

120

100

zLocal [cm]

Module 0 Tray71 : z Local Fit

90
80
70
60
50
40
%0 48 + 0.0]
20
10

0 . ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray75 : z Local Fit

12

100

80

60

40|

20

04¢

05(

25:

E)ZI.O 86 -4-20 2

zLocal [cm]

Module 0 Tray79 : z Local Fit

60
a0k Z0 =

20

B2 + 0.0

09¢

0

zLocal [cm]

A8 64202461810

Module 0 Tray64 : z Local Fit
140F

120k ‘
100p PN o
8of
60f
40 Z0 =

20

9B + 0.01

0

zLocal [cm]

Module 0 Tray68 : z Local Fit

120
100
80
60
40k 70 =

201

e

4 6 8 1

zLocal [cm]

Module 0 Tray72 : z Local Fit

120k
100f
8of
60F
40F 70 =(.004314 + 0.0Q

20

08 6 420 2 406 81

o) S Renal
-10-8 -6 -4 -2 0

zLocal [cm]

Module 0 Tray76 : z Local Fit

2 4 6 8 10

100

80

60

a0k

20

zLocal [cm]

Module 0 Tray80 : z Local Fit

s 20 2 46 810

12

100

80

60

a0f

201

03¢

09¢

97

0.006942 + 0.0[123

10¢

0

zLocal [cm]

o b ]
-10-8 6 4 -20 2 4 6 8 10



Module 0 Tray81 : z Local Fit
100fF

8of “Hf‘ i
60f

40k
Z0 =(Q.04381)7 + 0.0120:

20

g e T

zLocal [cm]

Module 0 Tray85 : z Local Fit
120fF

100
80

60

04€

zLocal [cm]

Module 0 Tray89 : z Local Fit

120k
100
80
60

4F Z0= 4 + 0.0099(

o : L )
710-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray93 : z Local Fit

5
40)
30)
20)

82(
10

064 20 24 6810

zLocal [cm]

Module 0 Tray97 : z Local Fit

a0F Z0 =

20

98!

0 J 4) ]
08 642024 6 810

zLocal [cm]

Module 0 Tray82 : z Local Fit

120k
100 e [
80
60f
40 Z0 =

20

0 L =

zLocal [cm]

Module 0 Tray86 : z Local Fit

08642024 68 10

+0.0304°

oF
sof
70F ikl
60f |
50k
20k
30F

zLocal [cm]

Module 0 Tray90 : z Local Fit

Z0 = {0.0008p7 + 0.0f12€

100p
sof
60
a0k

Z0 =
20F

zLocal [cm]

Module 0 Tray94 : z Local Fit

0 = A
-10-8 6-4-20 2 4 6 8 10

4 + 0.0120:

120
100

80

40 Z0 =

00y 20 24 6810

+ 0.0303¢

zLocal [cm]

Module 0 Tray98 : z Local Fit

40F 70 =0.069915 + 0.0107¢

20

0

) ]
-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 0 Tray83 : z Local Fit
120F

100
80
60

40F 70 =(.033852 + 0.0105!

20

R T

zLocal [cm]

Module 0 Tray87 : z Local Fit

120
100

80

97!

zLocal [cm]

Module 0 Tray91 : z Local Fit

90
80p
70k
60
50
40p
30
20
10

Z0 =0.002899 + 0.0121¢

0 ; : )
086-4-20 2 46 8 10

zLocal [cm]

Module 0 Tray95 : z Local Fit

100
sop
60
a0

08:
20f

W ol |
E)ZI.O-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray99 : z Local Fit

60f
40F 70 = 02(

20

U684 20 2.4 6 810

zLocal [cm]

Module 0 Tray84 : z Local Fit

120p
100f T ‘

80

4 + 0.0103¢

zLocal [cm]

Module 0 Tray88 : z Local Fit

120k

80

40F Z0 = 56 + 0.0111°

zLocal [cm]

Module 0 Tray92 : z Local Fit

120
100
80
60
40 70 =

208

42 + 0.0Q94:

T

0 L )
70-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray96 : z Local Fit

90
80
70
60
50
40
sk 70 =
20
10

38 + 0.0117¢

06 4 20 246 810

zLocal [cm]

Module 0 Tray100 : z Local Fit
120fF

100k
sof
60f
a0f

00:

208

s )
E)10-8-6-4-202 4 6 8 10

zLocal [cm]



Module 0 Tray101 : z Local Fit

22¢

zLocal [cm]

Module 0 Tray105 : z Local Fit

100
80
60

a0f

Z20=( +0.0113¢

20

' ]
-010-8-6-4-20 2 4 6 810

zLocal [cm]

Module 0 Tray109 : z Local Fit

120
100

80

40F Z0 =(.038644 + 0.0095¢

20

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray113: z Local Fit

120

100 U I " I
80|
60)
40)
20)

A0 6420 24 6810

05¢

zLocal [cm]

Module 0 Tray117 : z Local Fit

60
40

06(

20

06 s 20 24 6810

zLocal [cm]

Module 0 Tray102 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 0 Tray106 : z Local Fit

14¢

zLocal [cm]

Module 0 Tray110 : z Local Fit

100
80
60
40

+ 0.0309¢
20f

o a4 )
-10-8 6-4-2 02 4 6 810

zLocal [cm]

Module 0 Tray114 : z Local Fit

120
100
80
60

40p Z0 = + 0.0308!

00 s 2024 6 810

zLocal [cm]

Module 0 Tray118 : z Local Fit
140F

120
100
80
60
40k Z0 =

20

+ 0.0304:

0

0864 202 4 6810

zLocal [cm]

Module 0 Tray103 : z Local Fit

1=

0.8

0.6p

0.4pF

0.2

é,_;o
Sof=
S
IN 3
of
Ofa
(N 3
IN 3
Ofa
0|
=
S

zLocal [cm]

Module 0 Tray107 : z Local Fit

35 + 0.0099:

4202 46810

zLocal [cm]

Module 0 Tray111 : z Local Fit

100

60

a0
Z0 = ( 42 + 0.0118¢

20

0 ) ! J
10-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray115 : z Local Fit

100p
sof
60
a0

Z0 =
20f

) | }
U0 e G 20 2 46 B 10

zLocal [cm]

Module 0 Tray119 : z Local Fit

03¢

. - )
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray104 : z Local Fit

120k
100F Al
sof

60

40F 70 =(.048218 + 0.0095¢

M08 6 4202460810

zLocal [cm]

Module 0 Tray108 : z Local Fit

96¢

zLocal [cm]

Module 0 Tray112 : z Local Fit

100

60

40 70 =

20

B + 0.0Q94¢

1

o - 5 )
-10-8 -6 -4 20 2 46 810

zLocal [cm]

Module 0 Tray116 : z Local Fit

80

60

Z0 = + 0.0420:

20

6 4 20 2 46 810

zLocal [cm]

Module 0 Tray120 : z Local Fit

100
80
60

a0f

Z0 =(1.043442 + 0.0104¢

208

U664 20 2.4 6 810

zLocal [cm]



Module 0 Tray101 : z Local Fit

22¢

zLocal [cm]

Module 0 Tray105 : z Local Fit

100
80
60

a0f

Z20=( +0.0113¢

20

' ]
-010-8-6-4-20 2 4 6 810

zLocal [cm]

Module 0 Tray109 : z Local Fit

120
100

80

40F Z0 =(.038644 + 0.0Q95¢

20

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray113: z Local Fit

120

100 U I " I
80|
60)
40)
20)

06420 24 6 810

05¢

zLocal [cm]

Module 0 Tray117 : z Local Fit

60
40

06(

20

66 s 20 24 6810

zLocal [cm]

Module 0 Tray102 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 0 Tray106 : z Local Fit

14¢

zLocal [cm]

Module 0 Tray110 : z Local Fit

100
80
60
40

+ 0.0309¢
20f

o a4 )
-10-8 6-4-2 02 4 6 810

zLocal [cm]

Module 0 Tray114 : z Local Fit

120
100
80
60

40p Z0 = + 0.0308!

00 s 2024 6 810

zLocal [cm]

Module 0 Tray118 : z Local Fit

140
120
100
80
60
40k Z0 =

20

+ 0.0304:

0

0864 202 4 63810

zLocal [cm]

Module 0 Tray103 : z Local Fit

1=

0.8

0.6p

0.4pF

0.2

é,_;o
Sof=
S
IN 3
of
Ofa
(N 3
IN 3
Ofa
0|
=
S

zLocal [cm]

Module 0 Tray107 : z Local Fit

35 + 0.0099:

4202 46810

zLocal [cm]

Module 0 Tray111 : z Local Fit

100

60

a0
Z0 = ( 42 + 0.0118¢

20

0 ) ! J
10-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray115 : z Local Fit

100p
sof
60
a0

Z0 =
20f

) | }
UG8 G 20 2 46 B 10

zLocal [cm]

Module 0 Tray119 : z Local Fit

03¢

. - )
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray104 : z Local Fit

120k
100F Al
sof

60

40F 70 =(.048218 + 0.0095¢

zLocal [cm]

Module 0 Tray108 : z Local Fit

96¢

zLocal [cm]

Module 0 Tray112 : z Local Fit

100

60

40 70 =

20

B + 0.0Q94¢

1

o - 5 )
-10-8 -6 -4 20 2 46 810

zLocal [cm]

Module 0 Tray116 : z Local Fit

80

60

20:
20f

06 4 20 2 46 810

zLocal [cm]

Module 1 Trayl : z Local Fit

45p
40
35F
30F
25p
20§
15
10F Z0 =
sk

[l )
E)13-8-6-4-20 2 46 810

+ 0.0197:

zLocal [cm]



Module 1 Tray2 : z Local Fit

5 + 0.0[L61

O T

zLocal [cm]

Module 1 Tray6 : z Local Fit
40F

35§
30
25
20p

26!

zLocal [cm]

Module 1 Tray10 : z Local Fit

a0F
35
30
=F i
20
15p
10F Z0= 0
5k

b8 + 0.0p33

o . I ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray14 : z Local Fit
S0

a0p
30k
20f

+ 0.0165¢
10F

064 20 24 6810

zLocal [cm]

Module 1 Tray18 : z Local Fit
50

40pF
30
20

181
10f

06 420 24 6810

zLocal [cm]

Module 1 Tray3 : z Local Fit

L7e

zLocal [cm]

Module 1 Tray7 : z Local Fit

)

30

Z0 = +0.0187:

zLocal [cm]

Module 1 Tray11 : z Local Fit

a0f

3s5f
30f L \‘i”
25f hl

20
15f

ok Z0= 3 + 0.0201¢

0 L Ll )
-10-8 64 -2 02 4 6 8 10

zLocal [cm]

Module 1 Tray15 : z Local Fit
S0

a0f
30
20

w0 Z0= 1+ 0.0241¢

00T 024 6 8 10

zLocal [cm]

Module 1 Tray19 : z Local Fit

45k

a0f {

35k |“ ”
30F TP
25k
20F
15f
10
sk

1 )
91.)-8-6-4-20 2 4 6 810

Z0=( 8 + 0.0158°

zLocal [cm]

Module 1 Tray4 : z Local Fit

50
a0k
J\ I {il 8
30k Il
20
ok Z0 = 9.049627 = 0.0158"

zLocal [cm]

Module 1 Tray8 : z Local Fit

asf
a0
35k
30F
25k
20F

s

zLocal [cm]

Module 1 Tray12 : z Local Fit

50
aof L
30
20

Z0=40 |2 + 0.0(187
10f

0 2 A
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray16 : z Local Fit

5[
20F
35k
30F
25k
20F
15F
10F

191

U0 8 s 20 2 46 810

zLocal [cm]

Module 1 Tray20 : z Local Fit

1=

0.8

0.6

0.4f

0.2

-010-8-6-4-20 2 46 810

zLocal [cm]

Module 1 Tray5 : z Local Fit

P20

zLocal [cm]

Module 1 Tray9 : z Local Fit

zLocal [cm]

Module 1 Tray13 : z Local Fit

50
40
30
201

b8 + 0.0[L99
10F

0 * ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Trayl17 : z Local Fit
S0

a0f
30k
20f

1 Z0 =(.006001 + 0.01}79¢

O s 20 2 46 B 10

zLocal [cm]

Module 1 Tray21 : z Local Fit
45F
40F
35k
30p ‘ I
25k ‘
20F

15p
10k Z0 = 46 + 0.0405¢
S5k

U086 s 20 246 810

zLocal [cm]



Module 1 Tray22 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

0

-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 1 Tray26 : z Local Fit

0

40F

35§
30
25
20p

zLocal [cm]

Module 1 Tray30 : z Local Fit

3sf
30

25h ‘\.‘\
20

15p

f 70 =

zLocal [cm]

Module 1 Tray34 : z Local Fit

I
0 b ]
-10-8 6 -4-2 0 2 4 6 810

90 + 0.0310:¢

50

a0p

30

20

10

zLocal [cm]

Module 1 Tray38 : z Local Fit

06420 246 810

Z0 = 26 + 0.01821

5

40

30

20

10

E)10-8-6-4-20 2 4 6 8 1

zLocal [cm]

86

0

Module 1 Tray23 : z Local Fit

50
40
30

20
15

zLocal [cm]

Module 1 Tray27 : z Local Fit

s0f
40f |
30f | ‘\‘\
20f

Z0 =Q.047857 + 0.0180¢

10

g B R B ST

zLocal [cm]

Module 1 Tray31 : z Local Fit
40F

35p
30p
25k
20
15
10

5k

0 i )
08 -6-4-202 4 68 10

zLocal [cm]

Module 1 Tray35 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 1 Tray39 : z Local Fit

0 +0.0182:

0864 202 4 63810

zLocal [cm]

Module 1 Tray24 : z Local Fit

45F
40
3oF il
30 ‘ I'\‘
25
20

zLocal [cm]

Module 1 Tray28 : z Local Fit

S0fF
20 ‘

o
ok ” H[

20

zLocal [cm]

Module 1 Tray32 : z Local Fit

50,
a0
30k
20f
20 =( 44 + 0.0]
10f
A

zLocal [cm]

Module 1 Tray36 : z Local Fit

0 d ]
-10-8-6 -4-20 2 4 6 810

40f
3sf
3of I} J
] il
20f
15f
10k 20 = 92 +0.0]

sk

L

zLocal [cm]

Module 1 Tray40 : z Local Fit

0

zLocal [cm]

U0 8 s 20 246 810

A8 64202460810

78¢

79t

60(

82:

32:

Module 1 Tray25 : z Local Fit

zLocal [cm]

Module 1 Tray29 : z Local Fit
50)

aof {
30f \

201

Z0 = 84 + 0.0191

zLocal [cm]

Module 1 Tray33 : z Local Fit
50)

a0f ‘
30k \“U
20f

o 20=-D.024285 + 0.0170

0 ‘ L )
108 64202 46 8 10

zLocal [cm]

Module 1 Tray37 : z Local Fit

30

201

75¢
10F

L 1

064 20 2 46 810

zLocal [cm]

Module 1 Tray41 : z Local Fit

45

40F

“F il

30 ‘r“\ |

25k

20F

15fF

1ok 20 =10 Ob + 0.0456¢
5k

%

zLocal [cm]



Module 1 Tray42 : z Local Fit

BF z0= 46 +0.0194:

zLocal [cm]

Module 1 Tray46 : z Local Fit
5

40f
35k
30f
25f
20f

70:

zLocal [cm]

Module 1 Tray50 : z Local Fit

35
308
25p
20p
15

10F 07

0 h ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray54 : z Local Fit

5
a0f
30f
20f

191
10k
o L - ]
108 -6 420 2 4 6 810

zLocal [cm]

Module 1 Tray58 : z Local Fit

0.025581 + 0.0204

06 420 24 6810

zLocal [cm]

Module 1 Tray43 : z Local Fit

50
40
Hn.‘\ |
30 | 1
20
0= 19 + 0.00.44
10

zLocal [cm]

Module 1 Tray47 : z Local Fit
50

)
J
30f

20

Z0 =(0.004630 + 0.0163¢

10

L L ]
910-8-5-4-2 02 4 6 810

zLocal [cm]

Module 1 Tray51 : z Local Fit
45
40F

3sf

SOF ‘hwv
25f
20
15k
10k 20= A7 +0.0183¢

5k

0 | L )
-10-8 6-4-202 4 6 810

zLocal [cm]

Module 1 Tray55 : z Local Fit

35
30
25p
20p
15

10 Z0= 19t

SR 202 4 6 810

zLocal [cm]

Module 1 Tray59 : z Local Fit

A2 +0.0180(

N0 864202 4 63810

zLocal [cm]

Module 1 Tray44 : z Local Fit

A08 64202406 8 L

zLocal [cm]

Module 1 Tray48 : z Local Fit

Ltk ik
30 “ ‘
20

70 = 5 +0.0159:
10
0

zLocal [cm]

Module 1 Tray52 : z Local Fit

L75

a5
a0 |
sk LM

30 r

25

20

BF z0= 46 + 0.0]
10

5k

zLocal [cm]

Module 1 Tray56 : z Local Fit

0 L ]
-10-8-6 -4-20 2 4 6 810

69¢

45F
40F
sk
3of
2sf
20f
15f
10k Z0 =10.0068p2 + 0.0

sk

g

zLocal [cm]

Module 1 Tray60 : z Local Fit

U086 G 20 2 46 B 10

188

10 Z0={0 B3 + 0.0

17¢€

E)10 86 -4-20 2

zLocal [cm]

46 8 10

Module 1 Tray45 : z Local Fit

22¢

zLocal [cm]

Module 1 Tray49 : z Local Fit

zLocal [cm]

Module 1 Tray53 : z Local Fit
Bl

40
30
201

Z0 = 8b + 0.0183:
10F

0 ; ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray57 : z Local Fit

50

a0k

30

149

10

064 20 2 46 810

zLocal [cm]

Module 1 Tray61 : z Local Fit

40F
35p
30
25p
20p
15
10 70 =
5k

26¢

U064 20 246 810

zLocal [cm]



Module 1 Tray62 : z Local Fit

Z0 = Ol + 0.0477¢

zLocal [cm]

Module 1 Tray66 : z Local Fit

zLocal [cm]

Module 1 Tray70 : z Local Fit

40P

35p

30 \
\‘ !

25p

20

15

ok Z0=D D7 + 0.0[198

o i o ]
108 6420 2 4 6 810

zLocal [cm]

Module 1 Tray74 : z Local Fit

50|
40)
30)
20)

184
10

A6 s 20 24 6810

zLocal [cm]

Module 1 Tray78 : z Local Fit

50
40
30
201

80:

10p

) N )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray63 : z Local Fit
45F
40F

35
30
25p
20p
15
10

.044089 * 0.0196¢

08 64202 4 6810

zLocal [cm]

Module 1 Tray67 : z Local Fit

15p .

Z0 = +0.0178¢

zLocal [cm]

Module 1 Tray71 : z Local Fit

35k
aof H

25 | I"
20f
15f

10F Z0= a3 + 0.0208:

0 b )
108 -6-4-202 4 68 10

zLocal [cm]

Module 1 Tray75 : z Local Fit

45p
40

3sf ‘
30 \|‘m

25p |
20

10k Z20= d9 + 0.0203:

%0864 202 46810

zLocal [cm]

Module 1 Tray79 : z Local Fit

Z0=( 8 + 0.0186:

L ] )
-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 1 Tray64 : z Local Fit

50

a0

30

20

10

o aa T

zLocal [cm]

Module 1 Tray68 : z Local Fit

Z0 = (.046041 + 0.01f921

50

a0k

30

zLocal [cm]

Module 1 Tray72 : z Local Fit

07!

45f
a0F
35k
30F
25k
20F
15F
10f

ol

zLocal [cm]

Module 1 Tray76 : z Local Fit

0 ! ]
-10-8-6 -4-20 2 4 6 810

81:

35
30
25
20
15p
10 Z0 =

zLocal [cm]

Module 1 Tray80 : z Local Fit

U086 20 2 46 810

.0p41

45f
40
35
30k
25
20
15
10 Z0=

sk

+ 0.07

10°

0

zLocal [cm]

A8 64202460810

Module 1 Tray65 : z Local Fit

zLocal [cm]

Module 1 Tray69 : z Local Fit

s0f
a0F

30

Z0 = 0 +0.0167-

zLocal [cm]

Module 1 Tray73 : z Local Fit

asf
a0k
35k J\ ‘
30k Wik ! '
25f
20f
15k
10f
S5k

Z0=( 04 + 0.0409:

0 = ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray77 : z Local Fit
60|

s0f
a0f
30f
20f

77¢
10F

G 20 2 46 810

zLocal [cm]

Module 1 Tray81 : z Local Fit

35k
30f
25F
20F
1sf
10F 96¢

sk

I )
-10-8 6 4 -20 2 4 6 8 10

0

zLocal [cm]



Module 1 Tray82 : z Local Fit

45
40
3sf 1L L “
30k T
25p ‘
20

zLocal [cm]

Module 1 Tray86 : z Local Fit

Z0= +0.0198t¢

30
25
20 i

15p i .I“

zLocal [cm]

Module 1 Tray90 : z Local Fit

Z0= 6 + 0.0292¢

a0f
3sp
30f {

25f ‘
20f
15k
o Z0=P D2 + 0.0
5k

zLocal [cm]

Module 1 Tray94 : z Local Fit

0 = ]
-10-8 6 -4-2 0 2 4 6 810

166

a5k
a0F
35F
30F
25k
20F
15
10f
5k
o "

Z0=4Q.

zLocal [cm]

Module 1 Tray98 : z Local Fit

M08 6 4202406810

+ 0.0160¢

50

aof

30k

201

10

2l
E)10-8-6-4-20 2 4 6 8 1

zLocal [cm]

86"

0

Module 1 Tray83 : z Local Fit

Z0 = 5 +0.0192:

zLocal [cm]

Module 1 Tray87 : z Local Fit

87’

zLocal [cm]

Module 1 Tray91 : z Local Fit

35
30

T
20
15

10F 720 = 29 + 0.0215:-

I
0 is) : )
-10-8 6-4-202 4 6 810

zLocal [cm]

Module 1 Tray95 : z Local Fit

a0
35k
30
25k
20
15k
10F Z0=

sk

9 + 0.0201!

0086 s 20 2 4 6810

zLocal [cm]

Module 1 Tray99 : z Local Fit
40F
35F
30F
25f

20
15
;) 1+ 0.01674
5k

L 202 4 6 810

zLocal [cm]

Module 1 Tray84 : z Local Fit

50k
a0
30p
20f

49 + 0.07

10

a
U6ET6 4 20 2 46 B 1

zLocal [cm]

Module 1 Tray88 : z Local Fit

18(

50
aof ‘
30

20

80«

zLocal [cm]

Module 1 Tray92 : z Local Fit

50,
a0

b
ok 1 I

20

Z0 = 41 + 0.0
10F

zLocal [cm]

Module 1 Tray96 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

35
30
25
20
15p
10 Z0=4¢

34:

zLocal [cm]

Module 1 Tray100 : z Local Fit

0

zLocal [cm]

U0 e s 20 2 46 B 10

A8 64202460810

Module 1 Tray85 : z Local Fit
45

40fF

35p
30 \]
25
20f

10F 20 = [l + 0.02802

zLocal [cm]

Module 1 Tray89 : z Local Fit

50

a0F

il
3ok { ‘ [
20
o 0= D +0.0182:

zLocal [cm]

Module 1 Tray93 : z Local Fit

a5k
a0F
asf
30F
25k
20f
15k
10f

17 + 0.0R04

0 L )
108 64202 46 8 10

zLocal [cm]

Module 1 Tray97 : z Local Fit

sof
a0p
30F
20f

o+ 93;

64 20 2 46 B 10

zLocal [cm]

Module 1 Tray101 : z Local Fit

35
30
25
20p
15p

10

26¢

U064 20 2 46 810

zLocal [cm]



Module 1 Tray102 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

E:10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 1 Tray106 : z Local Fit

zLocal [cm]

Module 1 Tray110 : z Local Fit

40
35
30
25p
20f
15p

ok Z0= 30 + 0.0209¢

o J ]
-10-8 6 -4-2 0 2 4 6 8 10

zLocal [cm]

Module 1 Tray114 : z Local Fit

50

30

20

98t

10

G064 20 246 810

zLocal [cm]

Module 1 Tray118 : z Local Fit

Z20=9L D2 + 0.0L68

0 J A ,
-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray103 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 1 Tray107 : z Local Fit

Z20=9L B9 + 0.0[L74

zLocal [cm]

Module 1 Tray111 : z Local Fit

35k
30 ‘
25k ‘ |
20F
15f
10F Z0 = 1+ 0.01i861

o B b )
-10-8 6-4-2 02 4 6 810

zLocal [cm]

Module 1 Tray115 : z Local Fit

asf
40f
3sp
30f l
25} A
20F

1sf

10 20=0 19 + 0.0[19€

9086 s 202 4 6810

zLocal [cm]

Module 1 Tray119 : z Local Fit

50,
40
30
20

55¢
10

90 2024 6 8 10

zLocal [cm]

Module 1 Tray104 : z Local Fit

4 6 8 1

zLocal [cm]

Module 1 Tray108 : z Local Fit

92:

50

a0k

30

03¢

zLocal [cm]

Module 1 Tray112 : z Local Fit

50
a0k
ml1 Lt
30k
20
Z20=10 3 + 0.0[161
10

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray116 : z Local Fit

14¢

90864 20 24 6 810

zLocal [cm]

Module 1 Tray120 : z Local Fit

0

18¢

g L )
-10-8-6 4-20 2 46 810

zLocal [cm]

Module 1 Tray105 : z Local Fit

80 + 0.0195¢

zLocal [cm]

Module 1 Tray109 : z Local Fit

Z0 = 44 + 0.0182¢

zLocal [cm]

Module 1 Tray113: z Local Fit

50
40
il
30
20
b Z0=0.06884 + 0.01832
|

0 - 5 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray117 : z Local Fit

a0p

30

0 = 0.0[L55
10F

U6 s 20 2 46 810

zLocal [cm]



Module 1 Tray102 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

E:10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 1 Tray106 : z Local Fit

zLocal [cm]

Module 1 Tray110 : z Local Fit

40
35
30
25p
20f
15p

ok Z0= 30 + 0.0209¢

o J ]
-10-8 6 -4-2 0 2 4 6 8 10

zLocal [cm]

Module 1 Tray114 : z Local Fit

50

30

20

98t

10

G064 20 246 810

zLocal [cm]

Module 1 Tray118 : z Local Fit

Z20=9L D2 + 0.0L68

0 J A ,
-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray103 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 1 Tray107 : z Local Fit

Z20=9L B9 + 0.0[L74

zLocal [cm]

Module 1 Tray111 : z Local Fit
40F

35k
30 ‘
25k ‘ |
20F
15f
10F Z0 = 1+ 0.01§861

o B b )
-10-8 6-4-2 02 4 6 810

zLocal [cm]

Module 1 Tray115 : z Local Fit

asf
40f
3sp
30f l
25} A
20F

1sf

10 20=0 19 + 0.0[19€

0086 s 202 4 6810

zLocal [cm]

Module 1 Tray119 : z Local Fit

50,
40
30
20

55¢
10

9GS 2024 6 8 10

zLocal [cm]

Module 1 Tray104 : z Local Fit

Z0=0.088457 + 0.0192:

l

AWEH6 4202 461810

zLocal [cm]

Module 1 Tray108 : z Local Fit

50F
a0k

.
30f Tl

Z0= 03 + 0.0203t¢

zLocal [cm]

Module 1 Tray112 : z Local Fit

50
a0k
m” | ‘.‘
30k
20
Z20=10 3 + 0.0[161
10

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray116 : z Local Fit

+ 0.0214¢

g L |
E)ZI.0-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray1l : z Local Fit

25
S

20
15p

10

sk Z0 = 7 = 0.0R6E

U684 20 2.4 6 810

zLocal [cm]

Module 1 Tray105 : z Local Fit

80 + 0.0195¢

zLocal [cm]

Module 1 Tray109 : z Local Fit

asf
a0F
35f ‘“‘M.l
30F ‘ |
25k
20f
15k
10k

Z0 = 44 + 0.0182¢

zLocal [cm]

Module 1 Tray113: z Local Fit

50
40
il
30
20
b Z0=0.06884 + 0.01832
|

0 - 5 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray117 : z Local Fit

50

a0p

30

0 = 0.0[L55
10F

06 s 20 2 46 810

zLocal [cm]

Module 2 Tray2 : z Local Fit

25pm

20

10

P50

U662 20 2.4 6 810

zLocal [cm]



Module 2 Tray3 : z Local Fit

25k
20f
15k . \
10k

Z20=L p1 + 0.0263

zLocal [cm]

Module 2 Tray7 : z Local Fit

25

20
15p

10
P30

zLocal [cm]

Module 2 Tray11 : z Local Fit

25

20

15k

10

8 +0.0270"

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray15 : z Local Fit

B04

6
4
2
o )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray19 : z Local Fit

25
20]
15

10

66¢

06 s 20 24 6810

zLocal [cm]

Module 2 Tray4 : z Local Fit

25
20

15 EH| \‘\‘

s Z0 = 80 + 0.0323(

zLocal [cm]

Module 2 Tray8 : z Local Fit

15fk “ I

20 = 2 +0.0298¢

zLocal [cm]

Module 2 Tray12 : z Local Fit

25

20

15p

10

D5 + 0.0p81

I A0

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray16 : z Local Fit

30
25
20
15

10
P78

00 e G 202 4 6 810

zLocal [cm]

Module 2 Tray20 : z Local Fit

1=

0.8

0.6

0.4f

4 6 8 10

R
(=]
ob
N 3
I3
Y 3
Of=
N

zLocal [cm]

Module 2 Tray5 : z Local Fit

25

20

15

10

[ l )
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 2 Tray9 : z Local Fit

zLocal [cm]

Module 2 Tray13 : z Local Fit

25

20

15p

10

Z0 =0.028847 = 0.0352-

0 J )
-10-8-6 -4-20 2 46 810

zLocal [cm]

Module 2 Tray17 : z Local Fit

25
20
15p

10

P5€

90864 20 2 46 B 10

zLocal [cm]

Module 2 Tray21 : z Local Fit

25
20
15p
10

352

‘ il
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 2 Tray6 : z Local Fit

02¢

zLocal [cm]

Module 2 Tray10 : z Local Fit

9|

201

15p

D6 + 0.0R99

zLocal [cm]

Module 2 Tray14 : z Local Fit

25
20
T

10f
Z20=P 85 + 0.0p51

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray18 : z Local Fit

25
208
15k

10

323

U086 4 20 246 810

zLocal [cm]

Module 2 Tray22 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 2 Tray23 : z Local Fit

25

20

15p

10

zLocal [cm]

Module 2 Tray27 : z Local Fit

296¢

30p
25
208

I

15k BT

zLocal [cm]

Module 2 Tray31 : z Local Fit

P92

zLocal [cm]

Module 2 Tray35 : z Local Fit

08 6420246 810

43(

1=

0.8

0.6

0.4

0.2

zLocal [cm]

Module 2 Tray39 : z Local Fit

-10-8 6 4-2 0 2 4 6 810

25

20]

15

10

|
E)10-8-6-4-20 2 4 6 8 1

zLocal [cm]

09(

0

Module 2 Tray24 : z Local Fit

25
20
15p

10

Z0 = {0.0090p4 + 0.0p0C

e S T

zLocal [cm]

Module 2 Tray28 : z Local Fit

zLocal [cm]

Module 2 Tray32 : z Local Fit
30

25
20

15k \”‘\‘ Wl

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray36 : z Local Fit

08 642024062810

zLocal [cm]

Module 2 Tray40 : z Local Fit

75
S,

20,

15

10

90864 2024 6810

zLocal [cm]

Module 2 Tray25 : z Local Fit

57!

zLocal [cm]

Module 2 Tray29 : z Local Fit

30

25

20

15

10

£ Z0=10.015623 + 0.0318;
)
zLocal [cm]

Module 2 Tray33 : z Local Fit
25

20

15p

9 + 0.0R92

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 2 Tray37 : z Local Fit

25

20

15

10

0 +0.0R1¢

U086 s 20 2 46 B 10

zLocal [cm]

Module 2 Tray41 : z Local Fit

HJI,
w
I

A8 64202460810

2
20,
18
16
14
12
10

2 +0.0377¢

LO N o o

zLocal [cm]

Module 2 Tray26 : z Local Fit

2E
5

20
15p l“
10

sp Z0 = 28 + 0.0485¢

zLocal [cm]

Module 2 Tray30 : z Local Fit

B27

zLocal [cm]

Module 2 Tray34 : z Local Fit

5|

20
15

10

b Z0 =0.035998 + 0.0388:

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray38 : z Local Fit

25
20
15p

10F
25;

90864 20 246 810

zLocal [cm]

Module 2 Tray42 : z Local Fit

30k
25p
20
15p
10

P08

S5

U086 4 20 246 810

zLocal [cm]



Module 2 Tray43 : z Local Fit

zLocal [cm]

Module 2 Tray47 : z Local Fit

25
20
15p

10

5 + 0.0R06

O R e R T

zLocal [cm]

Module 2 Tray51 : z Local Fit

2
20)
18
16
14
12
10

+ 0.0384¢

8
6
4
2
o L ]
-10-8 6 -4-2 0 2 4 6 8 10

zLocal [cm]

Module 2 Tray55 : z Local Fit

BO6

6
4
2
o )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray59 : z Local Fit

25
20
15

10

B12

06 s 20 246 810

zLocal [cm]

Module 2 Tray44 : z Local Fit

24
22k
20
18

zLocal [cm]

Module 2 Tray48 : z Local Fit

161

25

20

15

10

zLocal [cm]

Module 2 Tray52 : z Local Fit

R72

25

20

15

10

zLocal [cm]

Module 2 Tray56 : z Local Fit

0 ]
-10-8 6-4-20 2 4 6 8 10

63(

25

20

15

10

910 8 -6-4-20 2

zLocal [cm]

Module 2 Tray60 : z Local Fit

4 6810

BOE

22F
20
18

0-8-6-4-202 4 6 8 1

zLocal [cm]

P5€

0

Module 2 Tray45 : z Local Fit

18
16
14
12
10

92¢

8
6
4
2

O R T

zLocal [cm]

Module 2 Tray49 : z Local Fit

“F L

do + 0.0320¢

zLocal [cm]

Module 2 Tray53 : z Local Fit
25

20

+ [V

10

[} 20=10.0551b7 + 0.036¢
0 ‘

zLocal [cm]

Module 2 Tray57 : z Local Fit

25

20

15p

10

l I 1
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 2 Tray61 : z Local Fit

43 + 0.0389(

A8 64202460810

zLocal [cm]

Module 2 Tray46 : z Local Fit

30

25

20

15

4217

zLocal [cm]

Module 2 Tray50 : z Local Fit

25pm

208

15p

10

33t

zLocal [cm]

Module 2 Tray54 : z Local Fit

25

201

15

10

o g
-10-8 -6 -4 -2 0 2

66:

T

zLocal [cm]

Module 2 Tray58 : z Local Fit

46 810

i

P52

11

08 6 4202406 810

zLocal [cm]

Module 2 Tray62 : z Local Fit

25pm

20

15p

10

0

19¢

086 4202461810

zLocal [cm]



Module 2 Tray63 : z Local Fit

3

25
20

15p

91

zLocal [cm]

Module 2 Tray67 : z Local Fit

zLocal [cm]

Module 2 Tray71 : z Local Fit

3 + 0.0321¢

I )
-10-8 6 -4-2 0 2 4 6 8 10

zLocal [cm]

Module 2 Tray75 : z Local Fit

25
20
15k

10

78

1

064 20 24 6810

zLocal [cm]

Module 2 Tray79 : z Local Fit

25
20
15

10
77

06 220 246 810

zLocal [cm]

Module 2 Tray64 : z Local Fit

25
20

i
15

g

zLocal [cm]

Module 2 Tray68 : z Local Fit

Z0= 49 + 0.0258!

4 1

zLocal [cm]

Module 2 Tray72 : z Local Fit

Z0 = 7 + 0.0364(

25

20

15

10

Z0=0.010845 * 0.04

zLocal [cm]

Module 2 Tray76 : z Local Fit

0 ]
-10-8 6-4-20 2 4 6 8 10

72¢

25

20

15p

10

sk Z0 = +0.04

90 e s 02

zLocal [cm]

Module 2 Tray80 : z Local Fit

75

\ )
4 6 8 10

25;

S,

20,

15

10

910-8-6-4-202 4 6 81

zLocal [cm]

00¢

0

Module 2 Tray65 : z Local Fit

zLocal [cm]

Module 2 Tray69 : z Local Fit

25

i ‘J

15 U1l

zLocal [cm]

Module 2 Tray73 : z Local Fit

25

20

T
15p ! '1\
10
J} z0= % + 0.0

zLocal [cm]

Module 2 Tray77 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

25

20

15p

10

zLocal [cm]

Module 2 Tray81 : z Local Fit
2

90864 20 246 B 10

20,
18
16
14
12
10

3 + 0.03

i

LO N o o

zLocal [cm]

A8 64202460810

361!

88

06

12¢

Module 2 Tray66 : z Local Fit

B42

O e T

zLocal [cm]

Module 2 Tray70 : z Local Fit

zLocal [cm]

Module 2 Tray74 : z Local Fit

5|

i H

15k i

£ Z20= O + 0.0268(

0 L 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray78 : z Local Fit

25

20

10

78t

1] 5 )
E:'10-8-6-4-202 4 6 8 10

zLocal [cm]

Module 2 Tray82 : z Local Fit

30p
25k
20f
15p
10F

Z0 =1.04606b + 0.0306¢

5

U064 20 246 810

zLocal [cm]



Module 2 Tray83 : z Local Fit

zLocal [cm]

Module 2 Tray87 : z Local Fit

3

25
20

15p

389

zLocal [cm]

Module 2 Tray91 : z Local Fit

+ 0.0402(

08 6 420246 810

zLocal [cm]

Module 2 Tray95 : z Local Fit

47(

6
4
2
O J )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray99 : z Local Fit

06¢

1 )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray84 : z Local Fit

25
20

Ul
15k o

10

Z20=0.0 + 0.0241-

zLocal [cm]

Module 2 Tray88 : z Local Fit

30
25

20f ‘
\

15 I

10

sk Z0 =(.08161 + 0.0320:

R S R B R T

zLocal [cm]

Module 2 Tray92 : z Local Fit

25p
20
S L

10

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray96 : z Local Fit

20
18p

349¢

08 642024062810

zLocal [cm]

Module 2 Tray100 : z Local Fit

20
15p

10

+0.0372:

1
910-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray85 : z Local Fit

zLocal [cm]

Module 2 Tray89 : z Local Fit

25
4
15k ‘L
Ll
10
sk Z0 =40.0448D9 + 0.0B35¢€

zLocal [cm]

Module 2 Tray93 : z Local Fit
30

25

20

15

Z0 = 3 + 0.0p5E

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 2 Tray97 : z Local Fit

25

20

15p

10

U084 20 2 46 810

zLocal [cm]

Module 2 Tray101 : z Local Fit

8

:F 20 = 4.080085 + 0.0451

2

Opetpentoncthctoastasstantiostunstenst
zLocal [cm]

Module 2 Tray86 : z Local Fit

b17

O e e )

zLocal [cm]

Module 2 Tray90 : z Local Fit

192

zLocal [cm]

Module 2 Tray94 : z Local Fit

25

208

15

10

1 + 0.0309C

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray98 : z Local Fit

25
208
15k

10

89¢

[

90864 20 246 810

zLocal [cm]

Module 2 Tray102 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 2 Tray103 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

0

-10-8 6 4-2 0 2 4 6

zLocal

Module 2 Tray107 : z Local Fit

[cm]

20

15p

10

zLocal

Module 2 Tray111 : z Local Fit

288t

[em]

-10-8 -6 -4 -2 0 2 4

5 8 10

86¢

zLocal [cm]

Module 2 Tray115 : z Local Fit

25

20

15

10

sk Z0 = + 0.0362¢

) - 4

-10-8 6 -4-2 0 2 4 6 810
zLocal [cm]

Module 2 Tray119 : z Local Fit

25k

15k

10

1

E)10-8 6 -4-20 2 4

6 8 10

10¢

zLocal [cm]

Module 2 Tray104 : z Local Fit

zLocal [cm]

Module 2 Tray108 : z Local Fit

25

10

zLocal [cm]

Module 2 Tray112 : z Local Fit

Z0 = 6 +0.0289°

2 +0.0360°
Nl ]
4 6 8 10
zLocal [cm]
Module 2 Tray116 : z Local Fit
24,
22F
20
18
16
14F | ‘
12fF | | W
10
k]
6fF _ o Aan:
JE 20= 38 + 0.0333:
2k
0 ]
-10-8 6 -4 -2 0 2 4 6 8 10

zLocal [cm]

Module 2 Tray120 : z Local Fit

20

10

zLocal [cm]

o I v ]
-10-8 6-4-20 2 4 6 810

25

20

15

10

)

Module 2 Tray105 : z Local Fit

-10-8-6 -4-20 2 46 8 1

25

20

15

10

zLocal [cm]

Module 2 Tray109 : z Local Fit

d0 + 0.0286¢

zLocal [cm]

Module 2 Tray113 : z Local Fit

.056230 + 0.0289°

25

20

15

10

Z0=10.090413 =+ 0.07

b

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 2 Tray117 : z Local Fit

93¢

25

20

15

10

Z0 =(.044871 + 0.02

E)ZI.O -8 -6

69¢€

L

4 202 46810

zLocal [cm]

Module 2 Tray106 : z Local Fit

29¢

zLocal [cm]

Module 2 Tray110 : z Local Fit

25

208

15p

10

sf Z0 = 60 + 0.0337:

zLocal [cm]

Module 2 Tray114 : z Local Fit

9 +0.0414
0 | )
-10-8 6 -4 20 2 4 6 8 10
zLocal [cm]
Module 2 Tray118 : z Local Fit
25
20
15
10
£ Z20= P48
0 )
-10-8 6 -4 -2 0 2 4 6 8 10

zLocal [cm]



Module 2 Tray103 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

0

-10-8 6 4-2 0 2 4 6

zLocal

Module 2 Tray107 : z Local Fit

[cm]

20

15p

10

288t

zLocal [cm]

Module 2 Tray111 : z Local Fit

-10-8 -6 -4 -2 0 2 4

5 8 10

86¢

zLocal [cm]

Module 2 Tray115 : z Local Fit

25

20

15

10

sk Z0 = + 0.0362¢

[0} - 4

-10-8 6 -4-2 0 2 4 6 810
zLocal [cm]

Module 2 Tray119 : z Local Fit

25k

15k

10

1

E)10-8 6 -4-20 2 4

6 8 10

10¢

zLocal [cm]

Module 2 Tray104 : z Local Fit

zLocal [cm]

Module 2 Tray108 : z Local Fit

25p

10

zLocal [cm]

Module 2 Tray112 : z Local Fit

Z0 = 6 +0.0289°

2 +0.0260°

0

4 6 8 1
zLocal [cm]
Module 2 Tray116 : z Local Fit
24
22F
20p
18
16 ‘
wb o (U
12fF | | W
10
k]
6fF _ o Aan:
JE 20= 38 + 0.0333:
2k
0 ]
-10-8 6 -4 -2 0 2 4 6 8 10

zLocal [cm]

Module 3 Tray1 : z Local Fit

> il
-108 6-4-202 4 6 81

zLocal [cm]

14t

0

Module 2 Tray105 : z Local Fit

25
20
15 ‘ l

10

)

0864202 461810

d0 + 0.0286¢

zLocal [cm]

Module 2 Tray109 : z Local Fit

25

20

15p

10

zLocal [cm]

Module 2 Tray113 : z Local Fit

.056230 + 0.0289°

25
20
‘MI‘\ M
15
10
| 20=9.000418 = 0.03031
i

0
-10-8-6 -4-20 2 4 6 8 1

zLocal [cm]

Module 2 Tray117 : z Local Fit

0

25

15p

10

L

E)ZI.O-8-6-4-20 2 46 81

zLocal [cm]

Module 3 Tray2 : z Local Fit

£ Z0=0.044871 + 0.0269¢

0

LA
sob I ‘u
60f
a0k

20

0

zLocal [cm]

i ] ]
-10-8-6 4-20 2 46 810

10€

Module 2 Tray106 : z Local Fit

29¢

zLocal [cm]

Module 2 Tray110 : z Local Fit

208

15p

10

sf Z0 = 60 + 0.0337:

zLocal [cm]

Module 2 Tray114 : z Local Fit

9 +0.0414
0 | )
-10-8 6 -4 20 2 4 6 8 10
zLocal [cm]
Module 2 Tray118 : z Local Fit
25
20
15
10
sk P48
0 )
-10-8 6 -4 -2 0 2 4 6 8 10

zLocal [cm]

Module 3 Tray3 : z Local Fit

100

80

60

a0p

201

0 v

zLocal [cm]

086 4202460810




Module 3 Tray4 : z Local Fit

zLocal [cm]

Module 3 Tray8 : z Local Fit

100k {

eok f \[I\
sof
a0f

D3 + 0.01113

208

o b - )
08 6420246181

zLocal [cm]

Module 3 Tray12 : z Local Fit

sof
60f
a0f

P4 + 0.017
20f

0 / i ]
-10-8 -6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray16 : z Local Fit

zLocal [cm]

Module 3 Tray20 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E;10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 3 Tray5 : z Local Fit

90
80F
70k
60
50
40
30
20p
10

zLocal [cm]

Module 3 Tray9 : z Local Fit

O e S TS

19 + 0.0f11¢

100p
80
60
a0

Z0 =40.022451 + 0.0

20

910-8-6-4-202 4 6 81

zLocal [cm]

Module 3 Tray13 : z Local Fit

119

100p
8o ik 1
sof
a0

20

s i

zLocal [cm]

Module 3 Tray17 : z Local Fit

0 L ]
-10-8 6-4-20 2 4 6 8 10

09¢

zLocal [cm]

Module 3 Tray21 : z Local Fit

0086 a 202 4 6 810

110

100

80,

60

40

20

0

zLocal [cm]

L )
-10-8 6-4-20 2 4 6 810

Module 3 Tray6 : z Local Fit

100p=

80

60

a0

.020547 + 0.0114:

20

O R T

zLocal [cm]

Module 3 Tray10 : z Local Fit

145

zLocal [cm]

Module 3 Tray14 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray18 : z Local Fit

sof
60
a0f

9 +0.0124
20f

U084 20 24 6 810

zLocal [cm]

Module 3 Tray22 : z Local Fit

1=

0.8

0.6

0.4f

0.2

-010-8-6-4-20 2 46 810

zLocal [cm]

Module 3 Tray7 : z Local Fit

100
8op TR

60

Z0 = 0B * 0.0104(

zLocal [cm]

Module 3 Tray11 : z Local Fit
90,

80F
70

60f
508
40
30

.op21

zLocal [cm]

Module 3 Tray15 : z Local Fit

sof
70F
60F
50k
a0F
30f

25¢

zLocal [cm]

Module 3 Tray19 : z Local Fit

100

80

60

a0f

20

064 20 2 46 810

zLocal [cm]

Module 3 Tray23 : z Local Fit

100

80

60

a0f

208

O s 20 2.4 6 810

zLocal [cm]



Module 3 Tray24 : z Local Fit

100
il
80 IV

60

$2 + 0.0009

zLocal [cm]

Module 3 Tray28 : z Local Fit

100

80

60

40)

20

O R e R T

zLocal [cm]

Module 3 Tray32 : z Local Fit

100
80
60
408

3 + 0.0114¢
20p

i

0 ‘ 3 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray36 : z Local Fit

aof
sof
70F
60F
s0f
40f
SF 70 =
20f
10f

D1 + 0.0126'

'y : )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray40 : z Local Fit

80f
F J‘ ‘
60F ‘ I
50f
40f
30f
b Z0=0.038837 +0.0322:
10F

! \ 1
E)10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 3 Tray25 : z Local Fit

33(

zLocal [cm]

Module 3 Tray29 : z Local Fit

e T

04¢

zLocal [cm]

Module 3 Tray33 : z Local Fit

100

80

60

a0k

107

zLocal [cm]

Module 3 Tray37 : z Local Fit

0 z A
-10-8 6-4-20 2 4 6 8 10

100

80

20

104

4

0086 s 202 4 6 810

zLocal [cm]

Module 3 Tray41 : z Local Fit

100

80

60

)

Z0 =0.006630 + 0.01

12°

20

0 2. Iy

-10-8 6-4-202 4 6 81
zLocal [cm]

Module 3 Tray26 : z Local Fit

.017532 + 0.0107:

M08 6 4202 46 810

zLocal [cm]

Module 3 Tray30 : z Local Fit

ok
8of
70F
60F
50f
a0F
30F

3 +0.0117¢

zLocal [cm]

Module 3 Tray34 : z Local Fit

12

100

sof T
oof
4of
Z0 =0.006012 £ 0.0111¢
20k

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray38 : z Local Fit

100

80

60

40|

20

zLocal [cm]

Module 3 Tray42 : z Local Fit

12
100
80
60

a0f
Z20=0 10:

20

U684 20 2.4 6 810

zLocal [cm]

Module 3 Tray27 : z Local Fit

Z0 =(.009846 + 0.0105¢

zLocal [cm]

Module 3 Tray31 : z Local Fit

85 + 0.0123¢

zLocal [cm]

Module 3 Tray35 : z Local Fit

I

0.8

0.6

0.4

0.2

-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray39 : z Local Fit

80
708
60
508
40
30

Z0=0Q. + 0.0140¢

20f
10

064 20 246 810

zLocal [cm]

Module 3 Tray43 : z Local Fit

100
80
60
40

03:

201

Pt )
E)10-8-6-4-20 2 46 810

zLocal [cm]



Module 3 Tray44 : z Local Fit

12
100
80

60

097

zLocal [cm]

Module 3 Tray48 : z Local Fit

zLocal [cm]

Module 3 Tray52 : z Local Fit

100
80
60

a0f
+ 0.0109¢

v

ol h
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 3 Tray56 : z Local Fit
100fF

sof
60p
a0p

104

20

06420 24 6810

zLocal [cm]

Module 3 Tray60 : z Local Fit

80P
70F ik !
soF \r’ k|
50
408
30
ok Z0 = 5 +0.0119:
10

N6 s 20 246 810

zLocal [cm]

Module 3 Tray45 : z Local Fit
8o

70f |
60fF wm il
s0f
20
30F
Z20= 55 + 0.0125:

20p
10

e R T

zLocal [cm]

Module 3 Tray49 : z Local Fit

zLocal [cm]

Module 3 Tray53 : z Local Fit

100p=

8of 4[|

Z20=10 12 +0.0[L04
20f

| (W
0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray57 : z Local Fit

100

80

60

7 +0.0[L07
20

0086 20 2 4 6810

zLocal [cm]

Module 3 Tray61 : z Local Fit
90,

80
70f LI
60
50
40F

30
20

Z20= 20 + 0.0127
10F

v, ! )
913-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray46 : z Local Fit

0.008084 + 0.0f11¢

0864202 461810

zLocal [cm]

Module 3 Tray50 : z Local Fit

90
80
i b (B
60 h
50
40p
30F -

Z0=10 b6 + 0.0132

zLocal [cm]

Module 3 Tray54 : z Local Fit

100

Z0=10 B4 + 0.0(117
20f

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray58 : z Local Fit

100
80
60

a0

4 +0.0114

(1 )
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 3 Tray62 : z Local Fit

60

a0k

2 +0.011C

20

0

J 'L ]
-10-8-6 4-20 2 46 810

zLocal [cm]

Module 3 Tray47 : z Local Fit

120k
100

M
80 1" fl |

60

Z20=P 0 = 0.0pL07

zLocal [cm]

Module 3 Tray51 : z Local Fit

9of
8ok J
il
70
60f
s0f
40k
F z0=
20k
10

v = 1
-013-8-6-4-20 2 46 810

M +0.0117¢

zLocal [cm]

Module 3 Tray55 : z Local Fit

80p
70
60p
50
40
30p
ok 0 + 0.0134¢
10

0 J 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray59 : z Local Fit

100

60

a0k
12(

20

64 20 24 6 810

zLocal [cm]

Module 3 Tray63 : z Local Fit

100k
8of
60f
a0f

08¢

201

1 3 ]
E)10-8-6-4-20 2 46 810

zLocal [cm]



Module 3 Tray64 : z Local Fit

100

80

Z0 =(Q.062078 + 0.0116(

zLocal [cm]

Module 3 Tray68 : z Local Fit

100
80

60

218

zLocal [cm]

Module 3 Tray72 : z Local Fit
100fF

80
60
408

Z0 =0.026808 + 0.0121¢
20p

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray76 : z Local Fit

80
70
60p
508
40
30

ok 0 +0.0033

10

N6 420 246 810

zLocal [cm]

Module 3 Tray80 : z Local Fit

36¢

M08 642024561810

zLocal [cm]

Module 3 Tray65 : z Local Fit

100

zLocal [cm]

Module 3 Tray69 : z Local Fit

100

Z0=( 7 +0.0114:

zLocal [cm]

Module 3 Tray73 : z Local Fit

100
80

60

20 + 0.0116¢

0 " s )
-10-8 64 -2 02 4 6 8 10

zLocal [cm]

Module 3 Tray77 : z Local Fit

11c

e T

zLocal [cm]

Module 3 Tray81 : z Local Fit

8of
70f
60F
sof
a0f
30F
2k + 0.0137:
10F

o I 1 ]
-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 3 Tray66 : z Local Fit

90f
sof
70
60
50
40,
30

-10-8-6 -4-20 2 46 8 1

zLocal [cm]

Module 3 Tray70 : z Local Fit

90
80F
70F X IV
60F
50f
40

0F 70 = 62 + 0.0]

zLocal [cm]

Module 3 Tray74 : z Local Fit

40k

20

i

zLocal [cm]

Module 3 Tray78 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

100

\ \“1.
sof |
60f
a0f
Z0 =0.020848 + 0.0]
20f
! [

zLocal [cm]

Module 3 Tray82 : z Local Fit

O8G0 2 46 B 10

a0k
48 + 0.0]

20

0

zLocal [cm]

A8 64202460810

21¢

26¢

05¢

20:

05!

Module 3 Tray67 : z Local Fit

100

Z0 = 1 +0.01[134

zLocal [cm]

Module 3 Tray71 : z Local Fit

90F
80
70 Hl
60 ‘U
50
a0
30

131

zLocal [cm]

Module 3 Tray75 : z Local Fit

90p
80f \I
70p
60p
50p
40
“F z0=
20p
10F

0 " J
-10-8 -6 -4 -2 0 2

19

zLocal [cm]

Module 3 Tray79 : z Local Fit

100

80

60

20

il !
E:’10-8-6-4-20 2 46 81

0

zLocal [cm]

Module 3 Tray83 : z Local Fit

100

80

60

a0f

201

E)10-8-6-4-2024681

07¢

0

zLocal [cm]



Module 3 Tray84 : z Local Fit

03E

zLocal [cm]

Module 3 Tray88 : z Local Fit

100
80
60

a0f
Z0 = 6 +0.0116°

20

Iy A ! )
-010-8-6-4-2 0 2 4 6 81

zLocal [cm]

Module 3 Tray92 : z Local Fit

100k
sof 11"
60f
a0p

Z0 = 58 + 0.0112/
201

0 c A
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray96 : z Local Fit

80p
F I
60F 74
50p
40p
30
ol 20= 0 +0.0131
10F

N6 4 20 24 6810

zLocal [cm]

Module 3 Tray100 : z Local Fit

0 +0.0323(

Al (i 1
-10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray85 : z Local Fit

90p

31(

zLocal [cm]

Module 3 Tray89 : z Local Fit

o e S T

100

80

60

40

20

0 \ i

10C

zLocal [cm]

Module 3 Tray93 : z Local Fit

A0B8 64202 4 6 8 i

100

a0k

20

102

zLocal [cm]

Module 3 Tray97 : z Local Fit

0 i L ]
-10-8 6-4-20 2 4 6 8 10

120,

100

80

60

40

20

zLocal [cm]

Module 3 Tray101 : z Local Fit

e T

16¢

90,
80
70k

ok L
50F
a0
30f

Z0 =(.044958 + 0.01

20
10

913-8-6-4-202 4 6 81

zLocal [cm]

25¢

0

Module 3 Tray86 : z Local Fit
70

60 ‘
50 [ Sy
40

30

20k 70 = A6 + 0.0140¢

0864202 461810

zLocal [cm]

Module 3 Tray90 : z Local Fit

20=10 D9 + 0.014C

zLocal [cm]

Module 3 Tray94 : z Local Fit

100
80
60

a0

Z0 = 49 + 0.0103:

20

0 ol . )
-10-8-6 -4-20 2 46 810

zLocal [cm]

Module 3 Tray98 : z Local Fit

100fF
sop
60
a0

08¢
20f

Ik

U0 EE s 20 2 a6 B 10

zLocal [cm]

Module 3 Tray102 : z Local Fit

1=

0.8

0.2

-10-8 -6 4-20 2 46 810

zLocal [cm]

Module 3 Tray87 : z Local Fit

14«

zLocal [cm]

Module 3 Tray91 : z Local Fit
90,

80F

0F il LJ
60p

508
40
30

)4 + 0.0[126

zLocal [cm]

Module 3 Tray95 : z Local Fit

90
¥ Ml
70k ‘ ‘F'\ n
60
50
40p
jg Z0 = (.069076 + 0.0105¢
10

o A ! }
10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray99 : z Local Fit

100f
sop
60f
a0k

20¢

20

064 20 2 46 810

zLocal [cm]

Module 3 Tray103 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 3 Tray104 : z Local Fit

100k
sof
60f
a0f

94 + 0.0300:

20

O e T

zLocal [cm]

Module 3 Tray108 : z Local Fit

100

8of i

a0f

Z20=¢( 3 +0.0109:

zLocal [cm]

Module 3 Tray112 : z Local Fit

100k
sof
2
a0p
Z0 = D4 + 0.0[L0C
20f
) by

0 = A
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray116 : z Local Fit

80
70
60p
508
40

30f
Z0=0. + 0.0120¢
20f

10

N6 4 20 24 6810

zLocal [cm]

Module 3 Tray120 : z Local Fit

sof
sof
4s0f

+0.0118t¢

20

0 v + )
-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray105 : z Local Fit

90p
80p ‘ L- \l
70F ‘|
60
50
40

S0F 70 = A9 + 0.0114:

20

zLocal [cm]

Module 3 Tray109 : z Local Fit

100

sof iyl
60f
40f
Z0 = 7 +0.0113¢
20F
0 . L ]

)
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray113 : z Local Fit

100

[KIAi
80fk il
60f
1)
Z0 = + 0.0Q98:
20f

0 i { )
-10-8 6-4 -2 02 4 6 810

zLocal [cm]

Module 3 Tray117 : z Local Fit

09(

00862 20 2 4 6810

zLocal [cm]

Module 3 Tray106 : z Local Fit

90
80p
3 AllGaN
60
50
a0
30
20

1323

AME 64202406181

zLocal [cm]

Module 3 Tray110 : z Local Fit

100

23!

zLocal [cm]

Module 3 Tray114 : z Local Fit

100

80

a0
20 =(
20f

14:

[

zLocal [cm]

Module 3 Tray118 : z Local Fit

0 i | )
086-4-20 2 46 8 10

100

80

a0f

20

105

zLocal [cm]

U084 20 24 6 810

Module 3 Tray107 : z Local Fit

100

80

a0k
Z0=(0.03004R + 0.0119°

20

O e T

zLocal [cm]

Module 3 Tray111 : z Local Fit

86 = 0.0113"

zLocal [cm]

Module 3 Tray115 : z Local Fit

90p
80F
70F
60F
50F
40
“F z0=
20p
10

0 let
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 3 Tray119 : z Local Fit

100k
sof
sof
a0k

Z0 =
20f

064 20 246 810

zLocal [cm]



Module 3 Tray104 : z Local Fit

100k
sof
60f
a0f

94 + 0.0300:

20

O e e R

zLocal [cm]

Module 3 Tray108 : z Local Fit

100

8of i

a0f

Z20=¢( 3 +0.0109:

zLocal [cm]

Module 3 Tray112 : z Local Fit

100k
sof
2
a0p
Z0 = D4 + 0.0[L0C
20f
) by

0 = A
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray116 : z Local Fit

80
70
60p
508
40

30f
Z0=0. + 0.0320¢
20f

10

N6 4 20 24 6810

zLocal [cm]

Module 4 Tray1l : z Local Fit

sof
70f
60f et
s0f
a0f
30k
ob Z0= 5

10

I ]
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray105 : z Local Fit

90p
80p ‘ L- \l
70F ‘|
60
50
40

S0F 70 = A9 +0.01

20

zLocal [cm]

Module 3 Tray109 : z Local Fit

14:

100

sof iyl
)
aof
Z0 = 7 +0.0]
20f
0 A 1)

)
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 3 Tray113 : z Local Fit

13

100

[KIAi
80fk il
60f
1)
Z0 = + 0.0(
20f

zLocal [cm]

Module 3 Tray117 : z Local Fit

0 i { )
-10-8 6-4 -2 02 4 6 810

98:

zLocal [cm]

Module 4 Tray2 : z Local Fit

0086 s 202 4 6810

09(

9of
8ofF
70F
60f
50f
40F
9F 70 =
20
10

9L 02 4 681

zLocal [cm]

15¢

0

Module 3 Tray106 : z Local Fit

90
80p
3 AllGaN
60
50
a0
30
20

1323

AMB 64202406181

zLocal [cm]

Module 3 Tray110 : z Local Fit

100

23!

zLocal [cm]

Module 3 Tray114 : z Local Fit

100

80

a0
20 =(
20f

14:

[

zLocal [cm]

Module 3 Tray118 : z Local Fit

0 i | )
086-4-20 2 46 8 10

100

80

a0f

20

105

zLocal [cm]

Module 4 Tray3 : z Local Fit

U084 20 2 4 6 810

90
sof
70k ik 1 Ly
ok Wl
s0f
20F
3of
20F
10F

107

Fid

0

zLocal [cm]

A8 64202460810

Module 3 Tray107 : z Local Fit

100k
sof
sof
a0k

.03004R + 0.0119°

20

O e T

zLocal [cm]

Module 3 Tray111 : z Local Fit

86 = 0.0113"

zLocal [cm]

Module 3 Tray115 : z Local Fit

90p
80F
70F
60F
50F
40
“F z0=
20p
10

0 let
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 3 Tray119 : z Local Fit

100k
sof
sof
a0k

Z0 =
20f

U064 20 246 810

zLocal [cm]

Module 4 Tray4 : z Local Fit

80)
70]
60)
50
40
30
20]
10}

i ]
E)10-8-6-4-20246810

zLocal [cm]



Module 4 Tray5 : z Local Fit
70

60f
so0f
a0f
30f

11 + 0.0129

zLocal [cm]

Module 4 Tray9 : z Local Fit

F 70 = 47 +0.0116;

zLocal [cm]

Module 4 Tray13 : z Local Fit

8of
70F AW |

60 L |
50
20f
F zo0= 38 + 0.0120¢
20
10
el iyt

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray17 : z Local Fit

90p
80F
70F “\.\.]
60p
50
40
30p
20
10F

67 +0.0[112

064 20 24 6810

zLocal [cm]

Module 4 Tray21 : z Local Fit

70p
60F J\
0 3
a0F
30F

ok Z0 =40.0398F5 + 0.0[L47

10

064 20 24 6810

zLocal [cm]

Module 4 Tray6 : z Local Fit

0k
60
50
40
30
b Z0=10.0266B1 + 0.0144
10

913—8—6—4—20 2 4 6 810

zLocal [cm]

Module 4 Tray10 : z Local Fit
70F

60
ul

508 0

40p

30

BS + 0.0114C

zLocal [cm]

Module 4 Tray14 : z Local Fit
90

80p
70k }J\,u
60 |
50

a0
“F z0=0 6 + 0.0127
20

10

0 J I ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

<

odule 4 Tray18 : z Local Fit

9o
80
70k
60F
s0f
a0f
30
20F
10F

7 +0.0[L3E

\ i 1
910—8—6—4—20 2 4 6 8 10

zLocal [cm]

Module 4 Tray22 : z Local Fit

1=

0.8

0.6

0.4f

4 6 8 10

R
(=]
ob
N 3
I3
Y 3
Of=
N

zLocal [cm]

Module 4 Tray7 : z Local Fit

30 A

Z0=10 B0 + 0.0132

9686 4 20 2 406 810

zLocal [cm]

Module 4 Tray11 : z Local Fit

B4 + 0.0[12¢

46 8 10

zLocal [cm]

Module 4 Tray15 : z Local Fit

70
60|
50)
40
30|

20| 5 = 0.015€

10

0 L ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray19 : z Local Fit

80
701 Iy el \‘

i
60
50
40
“F z0= 49 + 0.0138¢
20
10
|

E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray23 : z Local Fit

80
70k il
60
50
a0
“F z0=10 D7 + 0.0125
20
10

U084 20 2.4 6 810

zLocal [cm]

Module 4 Tray8 : z Local Fit
90F
80F

70f
60f
sof
a0F
30f
20k

6 + 0.0[L28

10

J L 1
-013-8-6-4-2024681

zLocal [cm]

Module 4 Tray12 : z Local Fit
90
80p

70
60f
50
40
30F

88 + 0.0[L31

zLocal [cm]

Module 4 Tray16 : z Local Fit

sof
70p
60f Ik
50f
20f
30f
208 Z0= 17 £ 0.0[L32

10

0 L) ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 4 Tray20 : z Local Fit

1=

0.8

0.6

0.4

0.2

910-8-6-4-20246810

zLocal [cm]

Module 4 Tray24 : z Local Fit
8o

70f
60F
s0f
a0F
30f
20f

10

0 4
-10-8 -6 -4 -2 0 2

zLocal [cm]



Module 4 Tray25 : z Local Fit

70p
60p
50
40p
30p
20 Z0 =
10

7 +0.0[54

O g T

zLocal [cm]

Module 4 Tray29 : z Local Fit

90
80
70
60p
50
40
30
20p
10

O e R R T

.026157 + 0.0124¢

zLocal [cm]

Module 4 Tray33 : z Local Fit

9ok
80f
70F
60F
s0f
a0f
30F
20f
10f

34 + 0.0105¢

0 3 h )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray37 : z Local Fit

sof
70F
60F
s0f
40k
30F
b Z0 = 40.006565 + 0.0[132
10f

N0 6420 246 810

zLocal [cm]

Module 4 Tray41 : z Local Fit

70
60
50
40
30
20 40+
10

N6 420 246 810

zLocal [cm]

Module 4 Tray26 : z Local Fit
80,

708
60 v"H.H.
50
40
30

b Z0= 41 + 0.01132¢

10

O S T

zLocal [cm]

Module 4 Tray30 : z Local Fit

B2 + 0.0[13¢

zLocal [cm]

Module 4 Tray34 : z Local Fit

80
70
60
50
40
30p
A 3 +0.01124
10

0 o ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

<

odule 4 Tray38 : z Local Fit

90p
80
70k
60
50
40k
30
20
10

00 s 202 4 6 810

0.013487 + 0.0041

zLocal [cm]

Module 4 Tray42 : z Local Fit

80
70
60
50
40
OF do + 0.0127(
20
10

o i ]
-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 4 Tray27 : z Local Fit

Z0=0.008318 + 0.0116(

zLocal [cm]

Module 4 Tray31 : z Local Fit
80|

70F
60
50f
20F
30f

20f Z0=40.0332[12 + 0.0[14C

zLocal [cm]

Module 4 Tray35 : z Local Fit

1=

0.8

0.6p

0.4

0.2

-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray39 : z Local Fit

80
70k
60
50
40

3ok
Z0=10. + 0.0125:
20f

10

U086 s 20 246 810

zLocal [cm]

Module 4 Tray43 : z Local Fit

90p
80F
70 Al
60F
50
a0k
30
20
10

U0 8 20 2 46 810

Z0=10 10 + 0.011€

zLocal [cm]

Module 4 Tray28 : z Local Fit
90,

80F
70

60F
s0f
a0k
30f

30 + 0.0417¢

zLocal [cm]

Module 4 Tray32 : z Local Fit

20=P 59 + 0.0[L30

zLocal [cm]

Module 4 Tray36 : z Local Fit

80
70F
60f LAy
50F
a0k
30F
20k Z0=P (7 + 0.0[L40

10

0 L J
10-8 6 -4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray40 : z Local Fit

60p
2 3
a0f
30p

20F 70 =

10

+ 0.0435¢

064 20 24 6 810

zLocal [cm]

Module 4 Tray44 : z Local Fit

8of
70F
60F
s50F
40f
30k
ok Z0 = .023428 + 0.0L32
10F

U064 20 2.4 6 810

zLocal [cm]



Module 4 Tray45 : z Local Fit

60 “
508 I \‘ I,
40
30

20F 70 = 0.0049%8 + 0.0[161

10

O e T

zLocal [cm]

Module 4 Tray49 : z Local Fit

90
80
70
60p
50
40
30

3L

zLocal [cm]

Module 4 Tray53 : z Local Fit

80
70F
60F
50k
a0F
30F
ok Z0 = 40.038665 + 0.020
10f

¥ it

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray57 : z Local Fit

80
70
60
508
40
zz 78 + 0.0124
10

j =1 )
E:'10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray61 : z Local Fit

70F
60p
50 I g [t
40f
30
200 Z0 =
10

I +0.0141

U064 20 24 6 81

zLocal [cm]

Module 4 Tray46 : z Local Fit
80

70k
60
50
40
30
20k Z0 =

10

95 + 0.0136:

e T

zLocal [cm]

Module 4 Tray50 : z Local Fit

70k

60

50 \‘P I
40
30

b9 + 0.0(141

zLocal [cm]

Module 4 Tray54 : z Local Fit

80
70
60
50
40
30p
A 10¢
10

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray58 : z Local Fit

14 +0.0[115

)

Mos 6420246810

zLocal [cm]

=

odule 4 Tray62 : z Local Fit

zLocal [cm]

Module 4 Tray47 : z Local Fit

elo] ]
80
70
60
50
40
30k

121

zLocal [cm]

Module 4 Tray51 : z Local Fit

32t

zLocal [cm]

Module 4 Tray55 : z Local Fit

70k
60f
S0
40F
30
20F Z0 =
10F

76(

I'p

zLocal [cm]

Module 4 Tray59 : z Local Fit
90

0 n ]
-10-8-6 -4-20 2 4 6 810

80
701
60
50
40
30
20

10

25;

zLocal [cm]

Module 4 Tray63 : z Local Fit

0 el )
-10-8-6 -4-20 2 46 8 10

80
70
60F
50
40
30
20p

10

12€

0

zLocal [cm]

) W 1
-10-8 -6 4-20 2 46 810

Module 4 Tray48 : z Local Fit

90
80f
70k \'
60f
50
40p
30

D3 + 0.0[129

zLocal [cm]

Module 4 Tray52 : z Local Fit

90
80f
70F
60F
s0f
a0k
30F

Z0 = .016640 + 0.0L09

zLocal [cm]

Module 4 Tray56 : z Local Fit

708
60p
50
40p
30fF
20k Z0 =

10

85 + 0.0[L19

o oy, o 1
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 4 Tray60 : z Local Fit

127

zLocal [cm]

Module 4 Tray64 : z Local Fit

1
80F
I
60F 1
50 ’

40
30
20
10

il i 1
E)13-8-6-4-20 2 46 810

Z20=¢( 56 + 0.0118¢

zLocal [cm]



Module 4 Tray65 : z Local Fit

zLocal [cm]

Module 4 Tray69 : z Local Fit

9
sof
70f T
60f W'l
50f
a0f
30f

70 =( 90 + 0.0121:

zLocal [cm]

Module 4 Tray73 : z Local Fit

9
8of
70f ]
60F
50f
40f
30f

ok P + 0.0426(

10

0 b . )
108 -6 4-20 2 4 6 810

zLocal [cm]

Module 4 Tray77 : z Local Fit

sof
70F
60F
s0f
20F
30f
b Z0 =0.007108 * 0.0124:
10f

N6 4 20 246810

zLocal [cm]

Module 4 Tray81 : z Local Fit
8O

70f
60F
s0f
40f
30f

20F 34¢

10p

gl f )
E)10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 4 Tray66 : z Local Fit

70
60
SoF MM
40
30
20 70 = A2 +0.0131¢

10

) | )
913-8-6-4-202 4 6 8 1

zLocal [cm]

Module 4 Tray70 : z Local Fit

20k Z20=10 y2 + 0.01L37

zLocal [cm]

Module 4 Tray74 : z Local Fit
90

80p

70F
60F
50
a0
30f
1 + 0.01f35C
20F

10

0 - ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

<

odule 4 Tray78 : z Local Fit
90F

80
70k
60F
50f
a0
30
20F
10F

+ 0.0319¢

- 1A )
910—8 6-4-202 4 6 810

zLocal [cm]

Module 4 Tray82 : z Local Fit

8of
70f
60f
sof
10F
30f
ok 45 + 0.0116¢
10f

5 4 hy |
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray67 : z Local Fit

Z0 = 53 + 0.0120:-

il \ 1
E)ZI.J-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray71 : z Local Fit

60

50

30

zLocal [cm]

Module 4 Tray75 : z Local Fit

70
60 i) \‘
50
40F
30
20k Z0 =

10

B7 + 0.0(137

i

0 ! i )
-10-8-6 -4-20 2 46 810

zLocal [cm]

Module 4 Tray79 : z Local Fit

9ok
sof
70F
60F
50f
a0F
30k
20k
10f

Z0 =40.0082p7 + 0.0L3€

U086 s 20 2 46 B 10

zLocal [cm]

Module 4 Tray83 : z Local Fit

oof
8of
70f bl
60
sof
4of
3of
20
10f

U084 20 2 46 810

Z0 = (.009952 + 0.0122:

zLocal [cm]

Module 4 Tray68 : z Local Fit

90

80

70k n \“\‘

oof kg

50

a0k

F z0= 2 +0.0127¢
20

zLocal [cm]

Module 4 Tray72 : z Local Fit
90,

80F
70k ‘\\M |
cof F
50
40p

30

Z0 = 45 + 0.0117(

zLocal [cm]

Module 4 Tray76 : z Local Fit

0 3
a0f
30F

20F Z0 =40.060043 + 0.0[L77

10

0 S $ ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 4 Tray80 : z Local Fit

8o
70F
60F
50f
a0F
30F
206 20 =

10

86 + 0.0[L33

064 20 246 810

zLocal [cm]

Module 4 Tray84 : z Local Fit
9o
80
70k |
60
S0
40F
30p
20F

+ 0.0421:

10p

9678"% 4

ur ]
20 2 46 810

zLocal [cm]



Module 4 Tray85 : z Local Fit

29!

zLocal [cm]

Module 4 Tray89 : z Local Fit

90
80f
70f
60F
s0f
a0f
30f

111

zLocal [cm]

Module 4 Tray93 : z Local Fit

90
80
T0F H.J“ ‘J
60
50
20F
30F
20F
10f

Z0 =0.009604 * 0.0125¢

ol ool 1
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray97 : z Local Fit

9
s0f
70F “JJ\
60F
s0f
20F
30F

ok Z0 =0.008063 * 0.0136¢

10
|

N6 420 246 810

zLocal [cm]

Module 4 Tray101 : z Local Fit

60
50
408
30

2F z0=
10

+ 0.0163¢

06 s 20 24 6810

zLocal [cm]

Module 4 Tray86 : z Local Fit

zLocal [cm]

Module 4 Tray90 : z Local Fit
70

1 il
50 ‘]\‘1
a0f
30

19 + 0.01148

zLocal [cm]

Module 4 Tray94 : z Local Fit

9o
80f
70k \I\ \
60
50
40
30
20
10

Z0 = 86 + 0.0120¢

0 . ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

<

odule 4 Tray98 : z Local Fit

90p
80p
7of A0
60
50
40
30
20
10

Z0=10.086765 + 0.0329:

908G 20 24 6810

zLocal [cm]

Module 4 Tray102 : z Local Fit

1=

0.6

0.4f

4 6 8 10

R
(=]
ob
N 3
I3
Y 3
Of=
N

zLocal [cm]

Module 4 Tray87 : z Local Fit
90|
80F
70k
60 hal |
S0f

20F
30f

Z0 = 1 + 0.02§094

HWEH6 4202461810

zLocal [cm]

Module 4 Tray91 : z Local Fit

70

60

50 \'IH \_i

40p

30

20 70= {0 2 + 0.01L54
10

zLocal [cm]

Module 4 Tray95 : z Local Fit
8OF

70
60
50
40|
30

20 +0.0128¢

10

i

0 == ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray99 : z Local Fit

80
70k k! HI
60
50
40
“F z0= 46 + 0.0146¢
20

10

U086 s 20 246 810

zLocal [cm]

Module 4 Tray103 : z Local Fit

1=

0.6

0.4f

-010-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray88 : z Local Fit

zLocal [cm]

Module 4 Tray92 : z Local Fit
100fF

80

60

a0k

zLocal [cm]

Module 4 Tray96 : z Local Fit

¥ ]HH\

50f Lyl
a0f
30f
20F Z0= 53 + 0.01

10

zLocal [cm]

Module 4 Tray100 : z Local Fit

0 al ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 4 Tray104 : z Local Fit

90,
80f
70F
60F
s0f
a0F
30F
20F

10

0

zLocal [cm]

} I )
-10-8 6 4 -20 2 4 6 8 10

23

22(

38(

30t

19¢



Module 4 Tray105 : z Local Fit

ok Z0 = 6 + 0.0129:

zLocal [cm]

Module 4 Tray109 : z Local Fit

Z0 = .008180 * 0.0f.22

zLocal [cm]

Module 4 Tray113: z Local Fit

80
70 I |
60f
50
a0F
30
ok Z0 =(.058641 + 0.01)24C

10

4

0 ) ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray117 : z Local Fit

90
80F
7ok L I
60f
50
40k

30f
20f
10

Z0=10.019885 + 0.0115¢

s )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray106 : z Local Fit

70
“F il M
50
40
30
200 Z0 =

10

15 + 0.0[13€

0 ik )
7108 6-4-202 4 6 8 10

zLocal [cm]

Module 4 Tray110 : z Local Fit

43¢

zLocal [cm]

Module 4 Tray114 : z Local Fit

80
70F
60F
50
a0
30F
ook + 0.0116-
10F

0 . ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray118 : z Local Fit

90p

41:

0086 a 024 6 8 10

zLocal [cm]

Module 4 Tray107 : z Local Fit

5 + 0.0(14¢

O T

zLocal [cm]

Module 4 Tray111 : z Local Fit

70

50

20k

46:

zLocal [cm]

Module 4 Tray115 : z Local Fit

70F
60F i L
50f

a0

3of
20F Z0=10.006990 + 0.0132!

10

A

0 L A
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray119 : z Local Fit

80
70F j
60 ‘
50
40
“F 40 +0.0123
20
10

o

46 8 10

0 i
-10-8 6 -4 -2 0 2

zLocal [cm]

Module 4 Tray108 : z Local Fit

zLocal [cm]

Module 4 Tray112 : z Local Fit

20=P D4 + 0.0[L16

zLocal [cm]

Module 4 Tray116 : z Local Fit

s0f
a0f
30F

20k 70 = 3 + 0.0[L46

0 ‘ i) )
108 64202 46 8 10

zLocal [cm]

Module 4 Tray120 : z Local Fit

80,
70
60f
508
40p
30
20k Z0 =

10p

32¢

s 20 2 46 810

zLocal [cm]



Module 4 Tray105 : z Local Fit

zLocal [cm]

Module 4 Tray109 : z Local Fit

29:

zLocal [cm]

Module 4 Tray113 : z Local Fit

122

80
70
60f
50
40
30
20
10

o ]
108 -6 -4 -2

Z0 =(.0586

4

0 2 4 6 810

zLocal [cm]

Module 4 Tray117 : z Local Fit

24C

aof
sof
70k ILh
60F
s0f
40k
30f
20f
10f

90786 4 2

Z0 =0.019885 + 0.01

s )
0 2 4 6 810

zLocal [cm]

Module 5 Tray2 : z Local Fit

15¢

45,
40p
35
30
25]
20]

0 2 46 81

zLocal [cm]

177

0

Module 4 Tray106 : z Local Fit

70
“F il M
50
40
30
200 Z0 =

10

15 + 0.0[13€

0 ik )
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray110 : z Local Fit

43¢

zLocal [cm]

Module 4 Tray114 : z Local Fit

80
70F
60F
50
a0
30F
ook + 0.0116-
10F

0 . ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray118 : z Local Fit

90p

41:

008G 024 6 8 10

zLocal [cm]

Module 5 Tray3 : z Local Fit

45
4of
3sf
30f
25k
20
15f
10f

1 + 0.0163

sk

0 | bt 1
-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 4 Tray107 : z Local Fit

-10 -8 -6

i

14¢

420 2 46 81

zLocal [cm]

Module 4 Tray111 : z Local Fit

70

50

20k

30

20

46:

zLocal [cm]

Module 4 Tray115 : z Local Fit

70

60

50

a0

30

200 20 =10.006990 + 0.01

10

0
-10 -8 -6

32!

A

zLocal [cm]

Module 4 Tray119 : z Local Fit

4 20 2 46 810

80
70k
60
50
40
30
20
10

E)ZI.O -8 -6

23

i »
4 -20 2

zLocal [cm]

Module 5 Tray4 : z Local Fit

46 8 10

E)10 -8 -6

g1 + 0.0

88¢

. el 1
-4 -20 2 46 810

zLocal [cm]

Module 4 Tray108 : z Local Fit

zLocal [cm]

Module 4 Tray112 : z Local Fit

20=P D4 + 0.0[L16

zLocal [cm]

Module 4 Tray116 : z Local Fit

s0f
a0f
30F

20k 70 = 3 + 0.0[L46

0 ‘ i) )
108 64202 46 8 10

zLocal [cm]

Module 5 Tray1 : z Local Fit
45F

40
35p
30
25p
20
15
10F Z0 =

sk

)0 + 0.0[L69

0864 20 2 46 810

zLocal [cm]

Module 5 Tray5 : z Local Fit

35pm

30p

20p
15p

10

Ly 1) |
U064 20 2.4 6 810

zLocal [cm]



Module 5 Tray6 : z Local Fit
40F

3sf
4
3 UK
20f
1sf

10F 20 = 90 + 0.0202(

zLocal [cm]

Module 5 Tray10 : z Local Fit

zLocal [cm]

Module 5 Tray14 : z Local Fit

ly 3
sof LY
20F

P8 + 0.0(149
10F

o ‘ | }
08642024 6 810

zLocal [cm]

Module 5 Tray18 : z Local Fit

asf
20F

35f

30F
25F
20f
15k

£ B8 + 0.01188

N6 420 246 810

zLocal [cm]

Module 5 Tray22 : z Local Fit

F
0.8k
0.6p
0.4k

0.2p

-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray7 : z Local Fit

45
45

zLocal [cm]

151

Module 5 Tray11 : z Local Fit

zLocal [cm]

Module 5 Tray15 : z Local Fit

20
3s5p
30F I J
sk “J‘I‘H
20F ‘
15f
10F Z0=0 81+ 0.0
5k

0
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 5 Tray19 : z Local Fit

P30

0

50

40k

30pF

20

10

G 202 4 681

zLocal [cm]

Module 5 Tray23 : z Local Fit

159

0

60

50

a0f

30

182

zLocal [cm]

0

Module 5 Tray8 : z Local Fit

45f
40F J
35 |
30F
25
20F

Z0 = 41 + 0.01)83¢

0864202 461810

zLocal [cm]

Module 5 Tray12 : z Local Fit
50

s0f
30k Il ]

20

y8 + 0.0(172

zLocal [cm]

Module 5 Tray16 : z Local Fit

45f
a0F
35k
30F
25k
20F

15f
10f £0=

0 L= A
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 5 Tray20 : z Local Fit

1=

0.8

0.6p

0.4p

0.2

E}ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray24 : z Local Fit

45k
20
358 i‘”H
3ok LU,
25k
20f
15f
10f
sk

d i
U086 s 20 2 46 810

14 + 0.0L74

zLocal [cm]

Module 5 Tray9 : z Local Fit

173

zLocal [cm]

Module 5 Tray13 : z Local Fit

45F
a0F

3sf
30F
25f
20F

178

zLocal [cm]

Module 5 Tray17 : z Local Fit

50
40
30 [
201

10

0 3 L
-10-8 6 -4 20 2 4 6 8 1

61 + 0.0202

0

zLocal [cm]

Module 5 Tray21 : z Local Fit

40
35
30
25
20f
15p
10

sk

E:’10-8-6-4-2024681

99!

0

zLocal [cm]

Module 5 Tray25 : z Local Fit

35
30
25
20p
15p
10

5

I} i
E)10-8-6-4-20 2 46 81

0

zLocal [cm]



Module 5 Tray26 : z Local Fit

86

zLocal [cm]

Module 5 Tray30 : z Local Fit

191

zLocal [cm]

Module 5 Tray34 : z Local Fit

50
40 {

“‘H‘\
4
20

Z0=10 13 + 0.0[L96
10F

0 A ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray38 : z Local Fit

50

20f

30

o+ 3 +0.0]94¢

E)10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 5 Tray42 : z Local Fit
50

aof

30

20

9 £ 0.0[L64

10

: 1 )
E)10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 5 Tray27 : z Local Fit
50

a0f l
30k M

20

Z0= 46 + 0.03192(

zLocal [cm]

Module 5 Tray31 : z Local Fit

20F
35k

SOF LUH‘,

25p
20p

8 +0.01191

zLocal [cm]

Module 5 Tray35 : z Local Fit

il

0.8

0.6

0.4

-10-8 6-4-20 2 4 6 8 10
zLocal [cm]

Module 5 Tray39 : z Local Fit
S0

a0f
30
20

Z0 = 1+ 0.0189¢
10F

0086 202 4 6 810

zLocal [cm]

Module 5 Tray43 : z Local Fit

45p
a0f
= gl
30F I‘H
25
20fF
15F
10f
5k

)
9686 4

Z0=10 10 +0.00L7¢

ol ]
202 4 6 8 10

zLocal [cm]

Module 5 Tray28 : z Local Fit

20=10 17 +0.00L75

zLocal [cm]

Module 5 Tray32 : z Local Fit
SO

a0k
30f

20

191

zLocal [cm]

Module 5 Tray36 : z Local Fit

a0f
35k
a0k A [
25k
20F
15F
ok 20=10

5k

y7 + 0.0(195

0 L Ll |
-:10-8-6 -4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray40 : z Local Fit

3sp
30k
25k I ‘
20F |

15

0F z0=410 B5 + 0.0R2¢&

O B T

zLocal [cm]

Module 5 Tray44 : z Local Fit

50
40
30
20

148
10F

U686 s 20 246 810

zLocal [cm]

Module 5 Tray29 : z Local Fit

45k
a0k
35k
30F
25k
20F
15f
10F

5k

O e T

Z0 = -.009507 + 0.0L74

zLocal [cm]

Module 5 Tray33 : z Local Fit

50

a0F

30

.O[L57

zLocal [cm]

Module 5 Tray37 : z Local Fit

50
40

i
30
20

Z20=9P 59 + 0.0[L74
10fF

[
0 Al ! 1
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray41 : z Local Fit

) 3
3sf
30f
25f
20f
15k
10F P37
5k

s 20 2 46 B 10

zLocal [cm]

Module 5 Tray45 : z Local Fit
45
40p
35k
30
o ] | “hm‘l
20F

15
10 Z0=P 98 + 0.0p33
sk

Hl ]
E)11)-8-6-4-20 2 46 810

zLocal [cm]



Module 5 Tray46 : z Local Fit
40F

358 ‘

S
25p \ !’

20

10 Z0 = 6 + 0.0206¢

zLocal [cm]

Module 5 Tray50 : z Local Fit

P23

zLocal [cm]

Module 5 Tray54 : z Local Fit
45F

a0F
35k
30F
25k
20F
15
{7 £ 0.0191
10F

5k

0 = L ]
108 -6-4-20 24 6 810

zLocal [cm]

Module 5 Tray58 : z Local Fit
45
40F

35
30fF
25p
20p
15
10

8 + 0.0[183

5k

. L )
E:'10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 5 Tray62 : z Local Fit

50)
40
30
20]

697

10

06 420 24 6810

zLocal [cm]

Module 5 Tray47 : z Local Fit
50

a0k
30

20

198

zLocal [cm]

Module 5 Tray51 : z Local Fit

45
40
35
30
25

zLocal [cm]

Module 5 Tray55 : z Local Fit

35p
30
25p
20
15

10F 720 = 3 +£0.0B1¢

{
0 ; ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray59 : z Local Fit

192

%086 4202 4 6810

zLocal [cm]

Module 5 Tray63 : z Local Fit

DO + 0.0118¢

Ho8 6420246810

zLocal [cm]

Module 5 Tray48 : z Local Fit

asp
a0f
asf fl ]
30k i
25f
20

014

zLocal [cm]

Module 5 Tray52 : z Local Fit

50

a0f

30

20

181

zLocal [cm]

Module 5 Tray56 : z Local Fit

40
35p
30
25
20
15

10p Z0= + 0.0

00°

b I

zLocal [cm]

Module 5 Tray60 : z Local Fit

0 o . )
-10-8-6 -4-20 2 46 810

408
35k
30
25 i
20 ‘
15
w0k z0=P 53 + 0.0

sk

211

d

zLocal [cm]

Module 5 Tray64 : z Local Fit

U084 20 2 46 B 10

50
40
30
20

40 + 0.09

10

25;

0

zLocal [cm]

| )
-10-8-6 4-20 2 46 810

Module 5 Tray49 : z Local Fit
50)

a0f
30f

20

88C

zLocal [cm]

Module 5 Tray53 : z Local Fit
50)

a0f
30f

201

P03

zLocal [cm]

Module 5 Tray57 : z Local Fit

50pm
408
30k I Hﬂ
20

o Z0=-0.037991 + 0.0182

0 . 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray61 : z Local Fit

35
30
25
20f
15k

10F 39¢

06 4 20 246 810

zLocal [cm]

Module 5 Tray65 : z Local Fit

a0f
35k
30k
25p
208
15p
10k 24(
5k

o064 20 2.4 6 810

zLocal [cm]



Module 5 Tray66 : z Local Fit

40F

358
30
25
20

zLocal [cm]

Module 5 Tray70 : z Local Fit

15¢

a5
a0F
35k
30 A kil
25k I]

20

zLocal [cm]

Module 5 Tray74 : z Local Fit

184

asf
a0f
3sfp
30F
25f
20f
15f

o 028146 + 0.0

-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 5 Tray78 : z Local Fit

P03

0

zLocal [cm]

Module 5 Tray82 : z Local Fit

400

0

asf
a0F
3s5f
30F
25k
20F
15f
10f

5k

L i,
E)11)-8-6-4-20 2 4 6 81

zLocal [cm]

171

Module 5 Tray67 : z Local Fit
50

a0k
30

20

19¢

zLocal [cm]

Module 5 Tray71 : z Local Fit
40F

35
30p
25p
20

48:

zLocal [cm]

Module 5 Tray75 : z Local Fit

a0f
35
30
25k
20F
15F
10k Z0=0.015541 + 0.0197¢

5k

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray79 : z Local Fit

50

40

30

20

10

0086 s 202 4 6 810

zLocal [cm]

Module 5 Tray83 : z Local Fit
45F
40F
35k
30F
25f
20f

15
10
]

90 e 2024 6 8 10

zLocal [cm]

Module 5 Tray68 : z Local Fit

50
a0k
|y
A el
20
Z0 = 6 + 0.0]
10

73:

zLocal [cm]

Module 5 Tray72 : z Local Fit

.0R2C

zLocal [cm]

Module 5 Tray76 : z Local Fit

35F
30
25
20
15p

F 70
sk

0
-10 -8 -6

.0p21

420 2 46 810

zLocal [cm]

Module 5 Tray80 : z Local Fit

5[
20F
35k
30F
25k
20F

15f
ok 20

E)ZI.O -8 -6

-4

zLocal [cm]

Module 5 Tray84 : z Local Fit

20 246810

E)10 -8 -6

Al
-4

71¢

20 2 46 810

zLocal [cm]

Module 5 Tray69 : z Local Fit

Z0 =(.000643 + 0.0184¢

¥ 1 )
-013-8-6-4-2024681

zLocal [cm]

Module 5 Tray73 : z Local Fit
45F
40p

3sf
30F
25f
20F

.0[L79

zLocal [cm]

Module 5 Tray77 : z Local Fit
50)

a0k
30k
20f

o+ 8 + 0.0L75

0 !
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 5 Tray81 : z Local Fit

35
30
25
20f
15k

10 Z0= 59 + 0.0p31

064 20 2 46 810

zLocal [cm]

Module 5 Tray85 : z Local Fit

35k
30f
25F
20F
1sf
10F 20 =

sk

P35

) L )
-10-8 6 4 -20 2 4 6 8 10

0

zLocal [cm]



Module 5 Tray86 : z Local Fit

3
25

20k | 'JL !

15p

zLocal [cm]

Module 5 Tray90 : z Local Fit

P63

40F

35§
30
25
20p

zLocal [cm]

Module 5 Tray94 : z Local Fit

P07

408
30
201

Z20=¢(
10F

o ] X
-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 5 Tray98 : z Local Fit

5 + 0.0162¢

0

45p
40
35p
30
25p
20k
15
10

5k

G064 20 24 681

zLocal [cm]

Module 5 Tray102 : z Local Fit

+ 0.0166¢

0

1=

0.8

0.6

0.4k

0.2p

o PR

-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

0

Module 5 Tray87 : z Local Fit
50

40f
30f SR

20

65 * 0.0[L6E

zLocal [cm]

Module 5 Tray91 : z Local Fit

a0f
35k
30p
25
20F
15
10F Z0=
5k

6 + 0.0p8E

0 kel Al 1
;108 6-4-202 46 81

zLocal [cm]

Module 5 Tray95 : z Local Fit

10f Z0={( 9 + 0.0396(

0 ot ]
-10-8 6-4-2 02 4 6 810

zLocal [cm]

<

odule 5 Tray99 : z Local Fit

45p
40
35
30k
25p
20p
15

oL + 0.0175:

O 202 4 6 810

zLocal [cm]

Module 5 Tray103 : z Local Fit

1=

0.8

4 6 8 10

R
(=]
ob
N 3
I3
Y 3
Of=
N

zLocal [cm]

Module 5 Tray88 : z Local Fit

Z0 = ( 49 + 0.0168°

LT 1
E)ZI.J-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray92 : z Local Fit

zLocal [cm]

Module 5 Tray96 : z Local Fit

35p
30
25
20
15

10F Z20=( 9 + 0.0266¢

0 . d ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 5 Tray100 : z Local Fit
40F

35k
30
25p
20
15

10 Z0= 04(

e o |
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray104 : z Local Fit
45
40p
35k
30
25p
20

15
10

8 +0.0182¢

o Y N )
-108-6 -4-20 2 46 810

zLocal [cm]

Module 5 Tray89 : z Local Fit
50)

40|

30

20

10

O e T

zLocal [cm]

Module 5 Tray93 : z Local Fit
50)

a0f
30f

201

168

zLocal [cm]

Module 5 Tray97 : z Local Fit

asf
a0k
asp
30F
25f
20f
15k
10f

S5k

52 + 0.0[L78

0 G ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray101 : z Local Fit
40F

35p
30
25
20p
15p

10F 70 =(Q.009499 + 0.0431"

;. ud )
E:’10-8-6-4-202 4 6 8 10

zLocal [cm]

Module 5 Tray105 : z Local Fit

10k Z0 =(.05986{1 + 0.01[74

(%)

R Iy 1
-10-8 6 4 -20 2 4 6 8 10

zLocal [cm]



Module 5 Tray106 : z Local Fit

zLocal [cm]

Module 5 Tray110 : z Local Fit

zLocal [cm]

Module 5 Tray114 : z Local Fit

50

408

30

201

10

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray118 : z Local Fit
45F

40F
35
30fF M
25k
20F
15)
10)

- 20 = (.036845 + 0.0191¢

N6 4 20 246 810

zLocal [cm]

Module 5 Tray107 : z Local Fit

+ 0.0197:

08 64202468 10

zLocal [cm]

Module 5 Tray111 : z Local Fit

b7 + 0.0p31

zLocal [cm]

Module 5 Tray115 : z Local Fit

a0k
35k M
aof Al
25 “ [P
20

15f
10 Z0=-0 B9 + 0.018¢

0 L d J
10-8-6-4-202 4 6 8 10

zLocal [cm]

Module 5 Tray119 : z Local Fit

50

40k

20

ok 03z

| v )
910-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray108 : z Local Fit

HWEH6 4202461810

zLocal [cm]

Module 5 Tray112 : z Local Fit

50

P2 + 0.016

zLocal [cm]

Module 5 Tray116 : z Local Fit

35

3of ”
1 \|H|
20f

15

ok z0=

) oy
0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 5 Tray120 : z Local Fit

35p
30F ‘l\i
sk i ‘
20p
15p

10k Z0=10 18 + 0.0R2

| ]
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

2 +0.0220:

&

1+ 0.072¢

n
<

Module 5 Tray109 : z Local Fit

D.021692 + 0.0p15

O e T

zLocal [cm]

Module 5 Tray113: z Local Fit

Z0 = (.040078 + 0.0163(

zLocal [cm]

Module 5 Tray117 : z Local Fit

50]
a0k

sof I

201

Z0 = O + 0.0416(

0 ) 1 )
108 64202 46 8 10

zLocal [cm]



Module 5 Tray106 : z Local Fit

zLocal [cm]

Module 5 Tray110 : z Local Fit

zLocal [cm]

Module 5 Tray114 : z Local Fit

50

40)

30

20

10

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray118 : z Local Fit

45
40
35
30
25
20
15
10

E)10-8 6 -4-20 2 4

Z0=0.036845 * 0.0191¢

6 8 10

zLocal [cm]

Module 6 Tray3 : z Local Fit

ia) s )
-10-8 6 -4-2 0 2 4 6 8 1

6 +0.0077¢

zLocal [cm]

Module 5 Tray107 : z Local Fit

08 642024 68 10

zLocal [cm]

Module 5 Tray111 : z Local Fit

+0.0197:

zLocal [cm]

Module 5 Tray115 : z Local Fit

b7 + 0.0p31

a0k
35k M
3ok Al
25

20
15

10f Z0=0 B9 + 0.0[L8¢

J

0 : A
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 5 Tray119 : z Local Fit

0

50

40k

20

ok 20=

} §
910-8-6-4-202 4 6 81

zLocal [cm]

Module 6 Tray4 : z Local Fit

1 + 0.01932

0

240F
220
200f
180F
160

2F 70=0.0543

913-8-6-4-202 4 6 81

zLocal [cm]

+0.00Q70¢

0

Module 5 Tray108 : z Local Fit

e 4202

2 +0.0220:

4 6 8 10

zLocal [cm]

Module 5 Tray112 : z Local Fit

50

P2 + 0.0[16€

zLocal [cm]

Module 5 Tray116 : z Local Fit

35
30
25
20

15

ok z0=

0 J L ]
-10-8-6 -4-20 2 4 6 810

1+ 0.072¢

ly

zLocal [cm]

Module 6 Tray1l : z Local Fit

200F
180F
160F
140f
120F
100F
sof
60
20F
20k

E)ZI.O -8 -6 -

20 2

1 + 0.0084%

)

46 8 10

zLocal [cm]

Module 6 Tray5 : z Local Fit

180
160f
140
120p
100
80p
°%F z0=
40
20p

0 5y b 1
-10-8 -6 4-20 2 4 6 810

0 = 0.0093(

zLocal [cm]

Module 5 Tray109 : z Local Fit

D.0216%2 + 0.0

-013-8-6-4-2024681

zLocal [cm]

Module 5 Tray113 : z Local Fit

P15

zLocal [cm]

Module 5 Tray117 : z Local Fit

63(

50]
a0k
30k '

201

) 3

zLocal [cm]

Module 6 Tray2 : z Local Fit

16(

0 ]
-10-8 6 -4 20 2 4 6 8 10

220f
200f
180F
160F
140k
120f
100k
sof -0 =
60F

a0F
20f

p ol

zLocal [cm]

Module 6 Tray6 : z Local Fit

76¢

06 4 20 246 810

zLocal [cm]

831

I b ]
-10-8 6 4 -20 2 4 6 8 10



Module 6 Tray7 : z Local Fit

24
220f
200f
180F
160f
140F
120F
100f
s0f _
b Z0 =
20F
20f

O g e S T

82 + 0.0076¢

zLocal [cm]

Module 6 Trayl11 : z Local Fit
200f
180f
160p
140p
120f
100

80

eof Z0 =0.013518 + 0.0081+

zLocal [cm]

Module 6 Tray15 : z Local Fit

180F
160k
140F
120p
100k
s0f
60F 70 =(.009369 + 0.0089:
a0F
20f

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray19 : z Local Fit

24
220
200
180
160
140
120
100
80
60
40
20

075

N0 6420 246810

zLocal [cm]

Module 6 Tray23 : z Local Fit

089

N6 s 20 246 810

zLocal [cm]

Module 6 Tray8 : z Local Fit

160
1408
120
100
80
60

Z0= + 0.0091-

40
20f

O e S T

zLocal [cm]

Module 6 Tray12 : z Local Fit

220
200
180
160
140
120
100
oF 20=0.011679 + 0.0479:
40F
20f

R S R R R T

zLocal [cm]

Module 6 Tray16 : z Local Fit

200f
180 3 ‘ H‘ ‘H
160F
140F
120F
100F
8of
sof Z0=10.0083
40F
20F

7 + 0.0086:

0 1
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray20 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 6 Tray24 : z Local Fit

+ 0.0084!

Ho8 64202 46810

zLocal [cm]

Module 6 Tray9 : z Local Fit

22
200f
180f
160f
140
120
100f
80
60
40
20

Z0=0.013473 + 0.0081¢

M08 6 -4 202 46 1810

zLocal [cm]

Module 6 Tray13 : z Local Fit

24
220F
200F
180F
160F
140f
120F
100F

80

60

76(

zLocal [cm]

Module 6 Tray17 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

8 + 0.0080(

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray21 : z Local Fit

180
160
140f
120F
100f
80k
sof Z0 =40.0184p7 + 0.008C
20F
20k

U084 20 246 810

zLocal [cm]

Module 6 Tray25 : z Local Fit

7 + 0.0089¢

0 Ly e 1
-10-8 -6 4-20 2 4 6 810

zLocal [cm]

Module 6 Tray10 : z Local Fit

8F zo0 = 26 + 0.0494(

zLocal [cm]

Module 6 Trayl14 : z Local Fit

24
220F
200p 1]

180F o
160f
140F
120F
100f

8F 70 = +0.0479°

zLocal [cm]

Module 6 Tray18 : z Local Fit

220k
200F i,
180F
160k
140F
120F
100F
8of _
ook Z0 =
40p
20F

b5 + 0.0p84

0 ,
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 6 Tray22 : z Local Fit

2
1.8
1.6
1.
1.2

0.8
0.6}
0.

0.2

910-8-6-4-20246810

zLocal [cm]

Module 6 Tray26 : z Local Fit
200F
180f
160f
140p
120
100f

80
sof Z0 =(
40
20

1%

90786 "2

42 + 0.0083¢

20 2 46 810

zLocal [cm]



Module 6 Tray27 : z Local Fit

220f
200k 1ML
180F | B
160k
140f
120f
100f
sof _

60F 20=pP
20F
20f

3 +0.0p78

zLocal [cm]

Module 6 Tray31 : z Local Fit

201
180k
160k
140F
120p
100f
80f
sof Z0 =40.009667 + 0.0p82
a0f
20f

R R e T

zLocal [cm]

Module 6 Tray35 : z Local Fit

I

0.8

0.6

0.4

0.2

6] U T T S TR T T T 1
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray39 : z Local Fit

220
200
180p
160p
140
120
100p
80F
60f
40k
20p

Z0 =(.004435 + 0.0080"

N6 420 24 6810

zLocal [cm]

Module 6 Tray43 : z Local Fit

8F 70 = 54 + 0.0081(

[ v )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray28 : z Local Fit

24
220F
200
180
160
140
120
100
80
60
40
20

9 702 4 681

zLocal [cm]

Module 6 Tray32 : z Local Fit

D83

zLocal [cm]

Module 6 Tray36 : z Local Fit

82!

200F
180F
160F
140F
120F
100f
8o0f
sof Z0 =40.006288 + 0.0
40F
20f

zLocal [cm]

Module 6 Tray40 : z Local Fit

0 ]
-10-8 6-4-20 2 4 6 8 10

084

160
1408
120
100

80

*F z0=
40

+0.0]

20

zLocal [cm]

Module 6 Tray44 : z Local Fit

i )
910-8 6-4-202 46 810

00°

913-8-6-4-202 4 6 81

zLocal [cm]

77

0

Module 6 Tray29 : z Local Fit

24
220
200 |
180f Il
160
140
120f

100f

8F z0=10 D5 + 0.007E

zLocal [cm]

Module 6 Tray33 : z Local Fit

220

200f ,\‘
180f I
160f

140

120

100f

9F 0= B5 + 0.007¢€
60f

40f

20k

zLocal [cm]

Module 6 Tray37 : z Local Fit
240
220
200
180
160

80 42 + 0.0Q80¢

¥l

086 4202406810

zLocal [cm]

Module 6 Tray41 : z Local Fit

200
180
160
140F
120F
100F
sof
sof Z0 =0.048386 + 0.0083¢
20
20f

U084 20 2 46 810

zLocal [cm]

Module 6 Tray45 : z Local Fit

60F 20 =0.033038 + 0.0091:-

U086 s 20 246 810

zLocal [cm]

Module 6 Tray30 : z Local Fit

80F 70 = 6 + 0.0084¢

zLocal [cm]

Module 6 Tray34 : z Local Fit

220p
200 I3 \‘
180F 1l |
160f
140F
120f
100f
80F
60F
40f
20F

-013-8 6 -4 -20 2

Z0 = OB + 0.0(84:

46 8 10

zLocal [cm]

Module 6 Tray38 : z Local Fit

220f
200f
180F
160f
140k
120f
100k
sof -0 =
60F

)
20F

16 + 0.0p74

rE i)

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray42 : z Local Fit

24
220k
200f ind
180k [ \
160F
140k
120F
100F
sof _
cof Z0=
40F
20f

1 +0.00721

{x ¥

064 20 246 810

zLocal [cm]

Module 6 Tray46 : z Local Fit

85

0 e 1
-10-8 6 4 -20 2 4 6 8 10

zLocal [cm]



Module 6 Tray47 : z Local Fit

220
200
180p
160p
140p
120
100p

80F

60f

Z0=0.017964 + 0.0080"

zLocal [cm]

Module 6 Tray51 : z Local Fit

22
200
180p
160p
140p
120
100p

80

sob Z0 = 5 +0.0082:

zLocal [cm]

Module 6 Tray55 : z Local Fit

160p
140
120
100
80p
°F Z0=0.03621p + 0.0487¢
40F
20F

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray59 : z Local Fit

220
200
180p
160p
140
120
100p
80F —
ok 20=
40
20p

+ 0.0979:

N6 4 20 246 810

zLocal [cm]

Module 6 Tray63 : z Local Fit

' 70 =(.038524 + 0.0087¢

06 s 20 24 6810

zLocal [cm]

Module 6 Tray48 : z Local Fit

24

220F
200
180F

80F
60

Z0 =(.018971 + 0.0082Z

zLocal [cm]

Module 6 Tray52 : z Local Fit

8F 70 =0.038930 + 0.0082¢

zLocal [cm]

Module 6 Tray56 : z Local Fit

200F
180f
160f
140f
120
100f
sof
sof Z0=
40f
20F

+ 0.0087¢

pé} hy

0 3 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray60 : z Local Fit

18
160
140f
120f
100
sof
60F 70 = (0.038471 + 0.0089¢
4of
20

v

0086 024 6 8 10

zLocal [cm]

Module 6 Tray64 : z Local Fit

Z0 = 8 + 0.0092¢

90 8 G T 02 6 8 10

zLocal [cm]

Module 6 Tray49 : z Local Fit

+ 0.0075¢

zLocal [cm]

Module 6 Tray53 : z Local Fit

220
200f
180f
160f
140
120
100f

8F 70 = (.048666 + 0.0076°

60

zLocal [cm]

Module 6 Tray57 : z Local Fit
240
220
200
180
160
140
120
100

80|
60|
40
20|

+ 0.0080¢

0 £ - )
-10-8-6 -4-20 2 46 810

zLocal [cm]

Module 6 Tray61 : z Local Fit

160
140
120
100
80p
F Z0= .0Q97:
40k
20f

0 -y i )
-10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray65 : z Local Fit

soF Z0 = ¢ 9 + 0.0078:

0 .’ i |
-10-8-6 -4-20 2 46 810

zLocal [cm]

Module 6 Tray50 : z Local Fit

50F 70 =(.04060¢ + 0.0Q90:

zLocal [cm]

Module 6 Tray54 : z Local Fit

+0.0Q78¢

zLocal [cm]

Module 6 Tray58 : z Local Fit

240F
220p
200 1‘ fl
180f |
160f
140
120
100§
80p —

o z0= 20 +0.0079¢
40p
20F

L) AL

0 - 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray62 : z Local Fit

220
200
180p
160p
140
1208
100p
80F
60p
40
20p

Z0 =(.0208111 + 0.00}77C

06 4 20 24 6 810

zLocal [cm]

Module 6 Tray66 : z Local Fit

18
160
140
120p
100

80

%k 92:
40p
20p

o P Ve 1
-10-8 6 4 -20 2 4 6 8 10

zLocal [cm]



Module 6 Tray67 : z Local Fit

zLocal [cm]

Module 6 Tray71 : z Local Fit

%F 70 =(.007604 + 0.0479:

zLocal [cm]

Module 6 Tray75 : z Local Fit

96(

200f
180F
160F NP IR
140k
120f
100f
s0f
sof Z0 =0

ol s
-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 6 Tray79 : z Local Fit

84 + 0.0p85

0

240F
220
200
180p
160p
140
120p
100p
80F
60F
40
20f

o nd O
-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 6 Tray83 : z Local Fit

079

0

zLocal [cm]

o r Uil 1
-10-8 6 -4-2 0 2 4 6 8 1

083

Module 6 Tray68 : z Local Fit

220
200
180
160
140
120
100
80
60
40
20

9

zLocal [cm]

Module 6 Tray72 : z Local Fit

83

zLocal [cm]

Module 6 Tray76 : z Local Fit

077

160
1408 ¢
120
100
80
60
40
20

0 "
-10-8 6 -4 -2 0 2

zLocal [cm]

Module 6 Tray80 : z Local Fit

200
180
160
140
120
100
80
60
40
20

zLocal [cm]

Module 6 Tray84 : z Local Fit

83¢

Z0 = 40.031445 + 0.0

913-8-6-4-202 4 6 81

zLocal [cm]

p7¢

0

Module 6 Tray69 : z Local Fit

76¢€

zLocal [cm]

Module 6 Tray73 : z Local Fit

220
200
180
160p
140
120
100f

80

60

08C

zLocal [cm]

Module 6 Tray77 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

D0 + 0.0)

077

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray81 : z Local Fit

180
160F Ik
140 '
120
100
80
60F 70 = .004914 + 0.0(
40
20

92:

90864 20

zLocal [cm]

Module 6 Tray85 : z Local Fit

Y ]
2 46 810

.0149p7 = 0.0

08¢

0

zLocal [cm]

A8 64202460810

Module 6 Tray70 : z Local Fit

sof Z0 =(.00254)7 + 0.0Q80:

zLocal [cm]

Module 6 Tray74 : z Local Fit

22
200
180
160
140§
120)
100]
80
60
40|
20

O R e R

D77

zLocal [cm]

Module 6 Tray78 : z Local Fit
220F
200
180f
160f
140f
120
100p

80F
60F
40F
20

.030896 * 0.0p87

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray82 : z Local Fit

220
200
180p
160p
140
1208
100p
F Z0=-0.013396 + 0.0p82
40
20p

0864 20 246 810

zLocal [cm]

Module 6 Tray86 : z Local Fit
140

120f
100F
sof
60f
a0k Z0 =

201

; ] 1
E)10-8-6-4-20 2 46 810

zLocal [cm]



Module 6 Tray87 : z Local Fit

220F
200F
180F
160F
140F
120F
100F
sof
oof Z0=10.027090 + 0.0p81
a0f
20f

O e T

zLocal [cm]

Module 6 Tray91 : z Local Fit

089

zLocal [cm]

Module 6 Tray95 : z Local Fit

"
160
1408
1208
100
80
sof 70 =
40k
20F

2 +0.0082:

{7 )
4 6 8 10

ol i
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 6 Tray99 : z Local Fit

220
200
180p
160p
140
120
100p
80F
60p
40
20p

3 +0.0085

N0 6420 246 810

zLocal [cm]

Module 6 Tray103 : z Local Fit

1=

0.6

0.4k

0.2p

E;10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 6 Tray88 : z Local Fit
220
200
180
160)
140
120
100

80)
60
40
20

iy 20 2 46810

0.0485p7 + 0.0p9C

zLocal [cm]

Module 6 Tray92 : z Local Fit

22
200
180
160p
140
120
100f
80p
60
40
20

R R R R T

Z0 = {0.016693 + 0.0p7E

zLocal [cm]

Module 6 Tray96 : z Local Fit
18|

160

1408
120
100

80

“F zo=
40f

3 + 0.0p9C

20
i L

0 = A
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray100 : z Local Fit

200
180
160
1408
1208
1008
80
sop Z0 =
40
20F

7 + 0.0Q91¢

i
)

e T

zLocal [cm]

Module 6 Tray104 : z Local Fit

+ 0.0080(

M TH ]
-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 6 Tray89 : z Local Fit

220
200
180F
160F
140
120
100F
SF 20 =10.0022p4 +0.0075
40k
20p

M08 6 4202 461810

zLocal [cm]

Module 6 Tray93 : z Local Fit
160F

140p M
120 “ ‘
100
80

60

Z0=10 B9 + 0.0091

zLocal [cm]

Module 6 Tray97 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

+ 0.0086(

0 . i 1
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray101 : z Local Fit

160
140
120
100

80

oF 7
a0

+ 0.0092¢

20

L & )
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 6 Tray105 : z Local Fit

d6 + 0.00980:

0 o e 1
-10-8 -6 4-20 2 4 6 810

zLocal [cm]

Module 6 Tray90 : z Local Fit

180
1o | Wil |
1401 W i
1201
100p

80p

OF z0=P D6 + 0.0p88

zLocal [cm]

Module 6 Tray94 : z Local Fit

24
220k
200 iy
180F kil
160k
140
120F
100k

8F zo=P 84 + 0.0p77

60f

zLocal [cm]

Module 6 Tray98 : z Local Fit

220
200k 1
180p
160p
140
120p
100p
80p
60p
40
20

Z0 = Al +0.00825

i ]
4 6 8 10

0 =)
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 6 Tray102 : z Local Fit

1=

0.6

0.4

0.2

910-8-6-4-20246810

zLocal [cm]

Module 6 Tray106 : z Local Fit

AS ' )
E)10-8-6-4-20 2 46 810

zLocal [cm]



Module 6 Tray107 : z Local Fit

24
220F
200 .
180f il

160f
140k

Z0 = 8 + 0.0080¢

zLocal [cm]

Module 6 Tray111 : z Local Fit

5F z0 = 2 +0.0091¢

zLocal [cm]

Module 6 Tray115 : z Local Fit

180
160k
140p
120k
100f
80f
sof Z0 =0.062780 + 0.0086¢
a0F
20f

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray119 : z Local Fit

+ 0.0081:

N6 420 24 6810

zLocal [cm]

Module 6 Tray108 : z Local Fit

160
140F
120k ¥ Iy
100
sof
60
09 + 0.0997(

40
20

e S T

zLocal [cm]

Module 6 Tray112 : z Local Fit

220F
200F
180
160f
140
120f
100F
80
60F
a0
20F

o R R R T

.048241 + 0.0075¢

zLocal [cm]

Module 6 Tray116 : z Local Fit
180F
160 'l
140k oy

120
100
80p
*F z0= 2
40
20

+ 0.00881

0 1y, 1| 1
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray120 : z Local Fit

zLocal [cm]

Module 6 Tray109 : z Local Fit

22
200f
180f
160f
140
120
100f
80
60
40
20

96™8"%

Z0=0.062798 + 0.0(

4 -20 2 4 6 8 1

zLocal [cm]

Module 6 Tray113 : z Local Fit

73(

zLocal [cm]

Module 6 Tray117 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

0
-10 -8 -6

44 + 0.0(

78¢

zLocal [cm]

4202 46 810

Module 6 Tray110 : z Local Fit

zLocal [cm]

Module 6 Tray114 : z Local Fit

2208
2008
180§
160§
140
120§
100§
8F 70 =(.0368
60
40
20

+0.04

91¢

80!

-01)-8-6-4-2024681

zLocal [cm]

Module 6 Tray118 : z Local Fit

B5€

zLocal [cm]

0 ]
-10-8 6 -4 20 2 4 6 8 10



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 1
1.
i3
0.5p
0 e
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 5
1.5
1+
0.5
0 Soo2
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 9
15
=
0.5p
0 So-0-co
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 13
15
+
0.5k
0 o-Co-6-cf
-0.5k
o
1.5k
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 17
1.5
1+
0.5
0 ST
-0.5
-1.5
-2
-2. A
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

[iN

0.

0.

-0.

-1.

-2

0.

-0.

-1.

-2.

0.

-0.

-1.

-2.

0.

-0.

-1.

Tray 2
.‘:
5
0 = a-a -
.5
5
-2
B0 102030 40 50
Module Angle [deg]
Tray 6
5
5
o oo
)
5
5
-2
S T I TR R R T )
Module Angle [deg]
Tray 10
5
5|
0 oo
5
5
-2
5 )
210 0 10 20 30 40 50
Module Angle [deg]
Tray 14
5
5
0 Q-po-c-c8
5
5
-2
A0 0 10 20 30 40 50
Module Angle [deg]
Tray 18
5
5
0 Se=o—oe
5
5
-2
D00 10 20 30 40 50

-2

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 3

10 20 30 40 50
Module Angle [deg]

Tray 7

10 0 10 20 30 40 50
Module Angle [deg]

Tray 11

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 15

20 0 10 20 30 40 50
Module Angle [deg]

Tray 19

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 4

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 8

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 12

$

25 i i i i i

10 0 10 20 30 40 50
Module Angle [deg]

Tray 16

N
B R R T BT BT Yo R
Module Angle [deg]

Tray 20
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 21
1.
i3
0.5p
0 [o W-VN Do,
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 25
1.5
1+
0.5
0 Q 1>ad
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 29
15
=
0.5p
0 0. a0,
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 33
15
+
0.5p
0 e
-0.5k
o
-1.5p
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 37
1.5
1+
0.5
0 Lo
-0.5
-1.5
-2)
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 22

=
n

0.5

(=)

2505040 50
Module Angle [deg]

Tray 26

L
I3

0.5

-0.5

-1.5

I R R O R R T )
Module Angle [deg]

Tray 30

=
3

0.5

-0.5

-1.5

25 ]
-10 0 10 20 30 40 50

Module Angle [deg]

Tray 34

0.5

o
o

-0.5

-1.

4l

-2.

A0 0 10 20 30 40 50
Module Angle [deg]

Tray 38

15

0.5

0 o On

-0.5

-1.5

-2

-2. )
710 0 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 23

10 20 30 40 50
Module Angle [deg]

Tray 27

10 0 10 20 30 40 50
Module Angle [deg]

Tray 31

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 35

20 0 10 20 30 40 50
Module Angle [deg]

Tray 39

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 24

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 28

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 32

25 i i i i i

10 0 10 20 30 40 50
Module Angle [deg]

Tray 36

N
B R R T BT BT Yo R
Module Angle [deg]

Tray 40
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 41
1.
i3
0.5p
0 o
o
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 45
1.5
1+
0.5
0 2 e
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 49
15
=
0.5p
o o e
-0.5p
-1
-1.5F
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 53
15
+
0.5k
0 © ecaca-
-0.5k
o
1.5k
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 57
1.5
1+
0.5
0 oot
-0.5
-1.5
-2)
-2, A
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 42

=
n

10

20 30 40 50
Module Angle [deg]

Tray 46

L
I3

0.5

0
-0.5

-1.5
-2|

25%

=
3

0

10

20 30 40 50
Module Angle [deg]

Tray 50

0.5

(=)

-0.5

-1.5

-2.5
-10

0

10

20 30 40 50
Module Angle [deg]

Tray 54

0.5

(=)

-0.5

-1.

4l

258

0

10

20 30 40 50
Module Angle [deg]

Tray 58

0.5]

[=]

-0.5

-1.5

_2._ )

0

10

Qo
TOOUO

20 30 40 50
Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 43

10 20 30 40 50
Module Angle [deg]

Tray 47

10 0 10 20 30 40 50
Module Angle [deg]

Tray 51

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 55

20 0 10 20 30 40 50
Module Angle [deg]

Tray 59

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 44

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 48

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 52

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 56

25 P Mecsslasasl
20 0 10 20 30 40 50
Module Angle [deg]

Tray 60
15

- en-y

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 61
1.
i3
0.5p
0
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 65
1.5
1+
0.5
0
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 69
15
=
0.5p
PSP
0|
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 73
15
+
0.5p
0 oS0 -
-0.5k
o
1.5k
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 77
1.5
1+
0.5
0 o0 o a—
-0.5
-1.5
-2
-2. A
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 62
1.I:
0.5
0
-0.5
-1.5
-2|
2505040 50
Module Angle [deg]
Tray 66
15
0.5]
0 FNEPRDRPSS
-0.5
-1.5
-2
B TV TV R VR T )
Module Angle [deg]
Tray 70
1.5
0.5]
0 -2 o8
-0.5
-1.5
-2|
-2.5 )
-10 0 10 20 30 40 50
Module Angle [deg]
Tray 74
15
0.5
0 TRL
-0.5
-1.5
-2|
2. ]
<10 0 10 20 30 40 50
Module Angle [deg]
Tray 78
15
0.5
0 nmnw
-0.5
-1.5]
-2]
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 63

10 20 30 40 50
Module Angle [deg]

Tray 67

10 0 10 20 30 40 50
Module Angle [deg]

Tray 71

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 75

20 0 10 20 30 40 50
Module Angle [deg]

Tray 79

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 64

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 68

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 72

25 i i i i i

10 0 10 20 30 40 50
Module Angle [deg]

Tray 76

N
B R R T BT BT Yo R
Module Angle [deg]

Tray 80
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 81
1.
i3
0.5p
0 PN
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 85
1.5
1+
0.5
o PPN
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 89
15
=
0.5p
0 \"ad \"ad
-0.5p
-1
-1.5F
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 93
15
+
0.5k
0 TO~C=Ggm
-0.5k
o
-1.5p
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 97
1.5
1+
0.5
0 TS
-0.5
-1.5
-2
-2. A
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 82
1.2
0.5
0 L
-0.5
-1.5
-2|
2505040 50
Module Angle [deg]
Tray 86
15
0.5]
0 Qe
-0.5
-1.5
-2
B TV TV R VR T )
Module Angle [deg]
Tray 90
1.5
0.5]
0 T
-0.5
-1.5
-2|
-2.5 )
-10 0 10 20 30 40 50
Module Angle [deg]
Tray 94
15
0.5
0 (o Wa™" Qo
-0.5
-1.5
-2|
2. ]
<10 0 10 20 30 40 50
Module Angle [deg]
Tray 98
15
0.5
0 L.a0.0.
-0.5
-1.5]
-2]
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 83

10 20 30 40 50
Module Angle [deg]

Tray 87

10 0 10 20 30 40 50
Module Angle [deg]

Tray 91

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 95

20 0 10 20 30 40 50
Module Angle [deg]

Tray 99

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 84

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 88

o.00,
0 L5

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 92

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 96

25 P Mecsslasasl
20 0 10 20 30 40 50
Module Angle [deg]

Tray 100
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 101
1.
i3
0.5p
0 P
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 105
1.5
1+
0.5
o O
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 109
15
=
0.5p
0 a
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 113
15
+
0.5p
o o0 o
-0.5k
o
-1.5p
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 117
1.5
1+
0.5
0 Py
-0.5
-1.5
-2
-2. A
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 102
1.2
0.5
0
-0.5
-1.5
-2|
2505040 50
Module Angle [deg]
Tray 106
15
0.5]
0 o-Oo-o
-0.5
-1.5
-2
B TV TV R VR T )
Module Angle [deg]
Tray 110
1.5
0.5]
0 a
-0.5
-1.5
-2|
-2.5 )
-10 0 10 20 30 40 50
Module Angle [deg]
Tray 114
15
0.5
0 o)
-0.5
-1.5
-2|
2. ]
<10 0 10 20 30 40 50
Module Angle [deg]
Tray 118
15
0.5
0 < TS
-0.5
-1.5]
-2]
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 103

10 20 30 40 50
Module Angle [deg]

Tray 107

10 0 10 20 30 40 50
Module Angle [deg]

Tray 111

25 i i i i i

T10 0 10 20 30 40 50
Module Angle [deg]

Tray 115

20 0 10 20 30 40 50
Module Angle [deg]

Tray 119

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 104

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 108

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 112

0.
ToTOT

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 116

25 P Mecsslasasl
20 0 10 20 30 40 50
Module Angle [deg]

Tray 120
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

20 40 o0 80 100 120
Tray #



N
oW

=
U

xLocal Offset [cm]
N

o
(O I

N
\LY

DS

80 100 120

Tray #



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57


